
Total No. of Questions : 6]

[5801]-601
T.Y.B. Com.

BUSINESS REGULATORY FRAMEWORK - II
(CBCS 2019 Pattern) (Semester -VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Q.No.1 and Q.No.6 are compulsory.
2) Solve any 3 (Three) questions from the remaining questions nos. 2, 3, 4 and 5.

P2984 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Any five) [5]

a) The person writing the cheque is called____________

(Drawer, Drawee, Payee)

b) To make a contract it takes at least__________ or more people
are  needed.

(One, two, three)

c) Every year since 1982, ____________ has been celebrated as
consumer day.

(15 March, 16 March, 18 March)

d) The Act of __________ was enacted to protect Indian geographical
producers in India.

(2000, 1999, 1998)

e) Negotiable instruments must be in___________Format.

(Written, Oral, Promise)

f) __________ is the theft of personal or confidential information
from any person, organization or any system of organization.

(Cybercrime, Virus, e-mail spoofing)

P.T.O.
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B) Match the following [5]

A Group B Group

i) Negotiable instrument Act a) 1967

ii) Information technology Act b) 2019

iii) The consumer protection Act c) 1957

iv) Copy right Act d) 2000

v) World intellectual property

organisation e) 1881

Q2) What is mean by promissory note? Explain the essentials of promissory note.[15]

Q3) What is E-commerce? Explain the significance and nature of E-commerce.[15]

Q4) Explain the three-tier consumer’s Disputes Redressal Commissions [15]

Q5) What is patent? Explain the rights and obligation of patentee. [15]

Q6) Write short notes (any three) [15]

 a) Essentials of bill of Exchange.

b) Electronic signature.

c) Salient features of consumer protection Act 2019.

d) Characteristics of trademarks.

e) Rights of design-holder.


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Total No. of Questions : 6]

[5801]-601
T.Y.B. Com.

BUSINESS REGULATORY FRAMEWORK - II
(CBCS 2019 Pattern) (Semester -VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.
2) àíZ H«$. 2, 3, 4 Am{U 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.

P2984

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) YZmXoe {b{hUmè¶m ì¶º$sbm ................. Ago åhUVmV.

(AmXoeH$, AmXoemWu, àmáH$Vm©)

ii) H$ama H$aÊ¶mgmR>r {H$‘mZ .............. AWdm A{YH$ ì¶º$s¨Mr JaO AgVo.

(EH$, XmoZ, VrZ)

iii) gZ 1982 nmgyZ Xadfu ............ hm {Xdg "OmJ{VH$ J«mhH$ {XZ' åhUyZ gmOam Ho$bm
OmVmo.

(15 ‘mM©, 16 ‘mM©, 18 ‘mM©)

iv) ^maVmV, ̂ maVr¶ ̂ m¡Jmo{bH$ CËnmXH$m§Zm g§ajU XoÊ¶mgmR>r ............. H$m¶Xm ApñVËdmV
Ambm.

(2000, 1999, 1998)

v) MbZj‘ XñVEodO hm ............ ñdê$nmV AgUo Amdí¶H$ Amho.

({b{IV, Vm|S>r, dMZ)

vi) ........... åhUOo H$moUË¶mhr ì¶º$s, g§ñWm qH$dm g§ñWoÀ¶m H$moUË¶mhr àUmbrVyZ d¡¶{º$H$
qH$dm JmonZr¶ ‘m{hVrMr Mmoar hmo¶.

(gm¶~a H«$mB‘, ìhm¶ag, B©-‘ob ñnwq’$J)
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~) ¶mo½¶ OmoS>¶m Owidm. [5]

A JQ> ~ JQ>

i) MbZj‘ XñVEodO H$m¶Xm A) 1967

ii) ‘m{hVr V§ÌkmZ H$m¶Xm ~) 2019

iii) J«mhH$ g§ajU H$m¶Xm H$) 1957

iv) boIm{YH$ma H$m¶Xm S>) 2000

v) OmJ{VH$ ~m¡{ÕH$ g§nXm g§KQ>Z B) 1881

à.à.à.à.à.2) dMZ{MR²>R>r åhUOo H$m¶? dMZ{MR²>R>rMo Amdí¶H$ KQ>H$ ñnï> H$am. [15]

à.à.à.à.à.3) B©-H$m°‘g© åhUOo H$m¶? B©-H$m°‘g©Mo ‘hÎd Am{U ñdê$n ñnï> H$am. [15]

à.à.à.à.à.4) {ÌñVar¶ J«mhH$ VH«$ma {ZdmaU ¶§ÌUm ñnï> H$am. [15]

à.à.à.à.à.5) noQ>§Q> åhUOo H$m¶? noQ>§Q>rMo A{YH$ma d O~m~Xmè¶m ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) hþ§S>rMo Amdí¶H$ KQ>H$

~) Bbo³Q´>m°{ZH$ ghr

H$) J«mhH$ g§ajU H$m¶Xm 2019 Mr d¡{eï>ço

S>) ì¶mnmar {MÝh/Q>óS>‘mH©$ Mr d¡{eï>ço

B) AmamIS>m (g§H$ën {MÌ) YmaH$mMo A{YH$ma


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Total No. of Questions : 4]

[5801]-602
T.Y.B Com.

362 : ADVANCED ACCOUNTING-II
(2019 Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question 1 is compulsory.
2) Solve any 2 questions from Remaining Q.No. 2,3 and 4.

P6478 [Total No. of Pages : 7

SEAT No. :

Q1) A) Fill in the blanks (Any five out of Seven) [5]

a) Co-operative Societies are not formed for earning _________.

i) Loss ii) profit

iii) income iv) expense

b) The ____________ branches are not allowed to make their own
purchases from open market.

i) Independent ii) Reliable

iii) Dependent iv) Current

c) Loading on surplus in stock is _______ to Branch Adjustment
Account.

i) credited ii) debited

iii) expensed iv) utilized

d) Forensic Accounting provides an accounting analysis suitable to be
used in_________ proceedings

i) Useful ii) legal

iii) notes iv) income

P.T.O.
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e) _______ is the indicated quotient of two mathematical expressions.

i) Ratio ii) Proportion

iii) Derivatives iv) Futures

f) Liquidity ratios measures the ability of a firm to meet its
_____________ obligations.

i) long term ii) current term

iii) short term iv) medium term

g) Current Ratio indicates __________ of the business.

i) liquidity ii) profitability

iii) nature iv) solvency

B) True of False (Any five out of Seven): [5]

a) In case of Marketing Co-operative Society the profit and Loss
Account has to be divided into two parts showing separately the
Trading Account and Profit and Loss Account.

b) The final accounts of Co-operative Societies are required to be
approved by the members in the Annual General Meeting.

c) The branch which keeps full system of accounting is said to be an
independent one.

d) The difference between invoice price and cost price of goods is
called “Loading’.

e) Branch Adjustment Account is prepared to ascertain the net profit
of the branch.

f) Ratio analysis helps in investment decisions.

g) Current ratio is also known as 1:2 ratio.
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C) Match the following :- [5]

1) Ideal Liquid Ratio a) Liquidity and solvency position

2) Branch Petty Cash Account b) Synthetic Method

3) Debtors Method c) Investigation of fraud

4) Forensic Accounting d) To ascertain actual petty
expense

5) Balance Sheet e) 1:1

D) Short Notes (Any three out of six): [15]

a) Consumer Co-operative Society.

b) Need for Branch Accounting.

c) Forensic Accounting.

d) ‘Panchasutri’ of Corporate Social Responsibility.

e) Derivatives.

f) Financial Statement Analysis.

Q2) From the following Trial Balance of Peoples Co-operative Credit Society Ltd.
as on 31st March 2022 and other adjustments prepare Profit and Loss Account
for the year ended 31st March 2022 and a Balance Sheet as on that date. [20]

Trial Balance as on 31st March 2022

Particulars Debit Amount Credit Amount

Cash in Hand 170

Cash at Bank 1300

Fixed Deposit 15000

Furniture 1200

Interest on Deposits 8000

Outstanding Interest on Loans 800

Salary 3000

Establishment Charges 200

Printing and Stationery 150

Travelling Expenses of Staff 200

Insurance charges 150

Contribution to Staff provident Fund 200

Loan due from Members 300000
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Share Capital 70000

Reserve Fund 10000

Members Deposit 210875

Unpaid Dividend 1010

Dividend Equalisation Reserve 1000

Staff Provident Fund 2000

Profit and Loss Appropriation Account

(Balance as on 01/04/2020) 1000

Profits for the year 2020-2021 16000

Interest 17000

Commission 1000

Share Transfer Fees 200

Co-Operative Development Fund 200

Education Fund 85

Total 330370 330370

Other Adjustments:

a) Interest due to Members Deposit was Rs.500.

b) Interest accrued due but not received was Rs.200.

c) Additions to furniture during the year amounted to Rs. 100. Provide
depreciation @10% p.a. on closing balance.

d) Salary outstanding and prepaid amounted to Rs.30 and Rs.50 respectively.

e) Audit fees due but not paid for the year amounted to Rs.300.

f) Authorised Share Capital of the society was 10000 shares of Rs.l0 each.

g) It was proposed the following appropriations for the year 2020-2021.

i) Dividend to the shareholders @5% on Share Capital.

ii) 25% to Reserve Fund.

iii) Additions to Dividend Equalisation Reserve Rs.500.

iv) Additions to Buildings Fund Rs.1000.
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Q3) The following is the Profit and Loss for the year ending 31st March 2021 and
Balance Sheet as on that date of C Ltd. [20]

Profit and Loss Account for the year ending 31st March 2022

Dr. Cr.

Particulars Amount Particulars Amount

To Opening Stock 10000 By Sales 100000

To Purchases 55000 By Closing Stock 15000

To Gross Profit c/d 50000

Total 115000 Total 115000

To Office Expense 15000 By Gross Profit b/d 50000

To Interest 3000

To Selling Expense 12000

To Net Profit c/d 20000

Total 50000 Total 50000

Balance Sheet as on 31st March 2022

Liabilities Amount Assets Amount

Share Capital Shares at 10 each 100000 Land and Building 50000

Profit and Loss 20000 Plant and Machinery 30000

Creditors 25000 Stock 15000

Bills Payable 15000 Debtors 15000

Bills Receivable 12500

Cash at Bank 17500

Furniture 20000

Total 160000 Total 160000

Other Information:

i) Average Debtors Rs. 12500

ii) Credit Purchases Rs.40000

iii) Credit Sales Rs.80000
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Calculate :

i) Stock Turnover Ratio

ii) Debtors Turnover Ratio

iii) Creditors Turnover Ratio

iv) Working Capital Turnover Ratio

v) Sales to Capital Employed

vi) Return on Shareholders Funds

vii) Gross Profit Ratio

viii) Net Profit Ratio

Q4) Jain Brothers, Jalgaon has a branch at Dhulia. All goods required for sale at
Dhulia are supplied from Jalgaon at cost plus 25% and all cash received at the
branch is banked daily in the Head Office Account opened in a Bank at Dhulia
From the following particulars prepare Dhulia Branch Account in the books of
Jain Brothers, Jalgaon, Head Office for the year ended 31st March 2022. [20]

Particulars Amount

Balances as on 1st April 2021

Stock 79000

Debtors 113000

Petty Cash 900

Returns from Customers 4000

Returned goods to Head Office 10000
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Bad Debts written off 1000

Bad Debts Provision 2100

Selling for Cash 14000

Rent payable on 31st March 2022 1000

Allowances given to Credit Customers 4500

Branch expenses paid by Head Office

Rent 14000

Salary 15000

Sundries 7000

Petty Cash Expenses at Branch 2400

Total Sales 349000

Petty Cash Remittances 2800

Balances as on 31st March 2022

Stock 84000

Debtors 195100

Goods Invoiced to Branch 250000





Total No. of Questions : 6]

[5801]-603
T.Y. B.Com.

BUSINESS ECONOMIC
363 - Indian and Global Economic Development - II

(CBCS 2019 Pattern) (Semester -VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and question No.6 are compulsory.
2) Solve any three quetions from the remaining questions Nos. 2, 3, 4 and 5.
3) Figures to the right indicate full marks.

P2985 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Attempt any 5) [5]

i) Gender development index was introduced in the year_________

a) 1995 b) 1996

c) 1998 d) 2014

ii) India ranks on_____ in the year 2021 Global Hunger index.

a) 116 b) 101

c) 105 d) 107

iii) I.M.F. established in______________

a) 1990 b) 1995

c) 1944 d) 1950

iv) No. of countries involved in SAARC________

a) 7 b) 8

c) 11 d) 21

v) _____________ is the international trade.

a) Trade between two countries

b) Trade between regions

c) Trade between province

d) All above

vi) India joined W.T.O in the year____________

a) 1990 b) 1995

c) 2000 d) 2005

P.T.O.
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B) Match the following [5]

A B

i) Human Development index a) Gender development index

ii) F.D.I. b) 2014

iii) BRICS c) 1995

iv) W.T.O d) Foriegn capital

v) GDI e) Mahbub-UL-Haq

Q2) Explain in detail the role of Human resource in economic development. [15]

Q3) What is the foriegn capital? Explain in the detail the role of foriegn capital in
economic development. [15]

Q4) Define the balance of payment and Explain causes of unfavourable balance of
payment. [15]

Q5) Explain in detail the functions of I.M.F. [15]

Q6) Write short notes (Any 3) [15]

a) Human poverty index.

b) Types of foreign capital.

c) Indian’s foreign trade policy (EXIM)

d) Functions of world bank.

e) Objectives of SAARC.



ˆ
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Total No. of Questions : 6]

[5801]-603
T.Y. B.Com.

BUSINESS ECONOMIC
363 - Indian and Global Economic Development - II

(CBCS 2019 Pattern) (Semester -VI)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm … 1) àíZ H«$. 1 Am{U 6 A{Zdm¶© Amho.
2) àíZ H«$. 2, 3, 4 Am{U 5 ¶mn¡H$s H$moUVohr 3 àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P2985

à.à.à.à.à.1) A) [aH$må`m OmJm ^am. [5]

i) qbJ^md {dH$mg {ZX}em§H$ ............ `m dfm©nmgyZ à{gÕ H$aÊ`mV Ambm.

A) 1995 ~) 1996

H$) 1998 S>) 2014

ii) 2021 À`m OmJ{VH$ Cnmg_ma {ZX}em§H$mZwgma ̂ maVmMm OJmV ............... H«$_m§H$ bmJVmo.

A) 116 ~) 101

H$) 105 S>) 107

iii) ............. ̀ m dfu Am§Vaamï´>r` ZmUo{ZYrMr ñWmnZm Pmbr.

A) 1990 ~) 1995

H$) 1944 S>) 1950

iv) gmH©$ `m g§KQ>ZoMo ............. g^mgX Xoe Amho.

A) 7 ~) 8

H$) 11 S>) 21

v) .............. hm Am§Vaamï´>r` ì`mnma Amho.

A) XmoZ Xoem§_Yrb ì`mnma ~) àXoem§_Yrb ì`mnma

H$) àm§Vm_Yrb ì`mnma S>) d[ab gd©

vi) .............. `m dfu ^maV OmJ{VH$ ì`mnma g§KQ>ZoMm g^mgX Pmbm.

A) 1990 ~) 1995

H$) 2000 S>) 2005
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~) OmoS>çm Owidm.
    A    ~

i) _mZdr {dH$mg {ZX}em§H$ A) qbJ^md {dH$mg {ZX}em§H$
ii) F.D.I. ~) 2014

iii) BRICS H$) 1995

iv) W.T.O. S>) na{H$` ^m§S>db
v) GDI B) _h~w~-D$b-hH$

à.à.à.à.à.2) Am{W©H$ {dH$mgmV _mZdr g§gmYZmMr ŵ{_H$m g{dñVa ñnï> H$am. [15]

à.à.à.à.à.3) na{H$` ^m§S>db åhUOo H$m`? Am{W©H$ {dH$mgmVrb na{H$` ^m§S>dbmMr ŵ{_H$m g{dñVa ñnï> H$am.
[15]

à.à.à.à.à.4) ì`dhmaVmobmMr ì`m»`m Xçm Am{U ì`dhmaVmob Ag_VmobmMr H$maUo ñnï> H$am. [15]

à.à.à.à.à.5) Am§Vaamï´>r` ZmUo{ZYrMo H$m }̀ g{dñVa ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUVohr VrZ) [15]

A) _mZdr Xm[aÐç {ZX}em§H$

~) na{H$` ^m§S>dbmMo àH$ma

H$) ^maVmMo {dXoer ì`mnma YmoaU (Am`mV-{Z`m©V)

S>) OmJ{VH$ ~±Ho$Mr H$m }̀

B) gmH©$Mr C{ÔîQ>ço


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[5801]-604
T.Y.B. Com.

363 - INTERNATIONAL ECONOMICS - II
(CBCS 2019 Pattern) (Semester -VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and question No.6 are compulsory.
2) Solve any three quetions from the question No.2 to question No.5
3) Figure to the right side indicate full marks.

P2986 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Attempt any-5) [5]
i) ______ A disequilibrium in balance of payment can also be corrected

by___________

a) Appreciation b) Devaluation

c) Revaluation d) Depreciation

ii) ________ is a component of invisible exports.

a) Software services b) Machinaries

c) Equipments d) Medicienes

iii) The head quarter of MNC’s is loketed_______Country

a) Own country b) Nebour country

c) In The working country d) All country

iv) In the market where one currency is traded for another
currency___________

a) Forex market b) Credit market

c) Money market d) Capital Market

v) Current account of balance of payment recods_______

a) Exports and imports of consumer goods

b) Exports  and imports of capital goods

c) Inflow of investment

d) Out flow of investment.

vi) International monitory Fund established in__________ this year

a) 1950 b) 1949

c) 1946 d) 1951

P.T.O.
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B) Match the following [5]

A group B group

i) SAARC a) Labour organisation

ii) World trade organisation b) Fix & Flexible exchange rate

iii) Balance of payment c) WTO

iv) Brain drain d) Rigional organisation.

v) Forign Exchange e) Current account &
capital account

Q2) Explain the measures to correct disequillbrium in balanance of payment. [15]

Q3) Explain the structure and functions of foreign exchange market. [15]

Q4) What is meant by labour migration? Explain the causes and effects of labour
Migration. [15]

Q5) Eexplain the objectives and functions of WTO. [15]

Q6) Write short note (Any-3). [15]

a) Convertibility of Rupee

b) Foreign Exchange market.

c) Brain Drain.

d) International monetary fund [IMF]

e) World Bank.



ˆ
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Total No. of Questions : 6]

[5801]-604
T.Y.B. Com.

363 - INTERNATIONAL ECONOMICS - II
(CBCS 2019 Pattern) (Semester -VI)

 (‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo A{Zdm¶© AmhoV.
2) àíZ H«$. 2 Vo àíZ H«$. 5 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P2986

à.à.à.à.à.1) A) ¶mo½¶ n¶m©¶ {ZdSy>Z [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]

i) ì¶dhmaVmobmVrb Ag‘Vmob ........... ‘yio Xÿa Ho$bm Omdy eH$Vmo.

A) ZmoQ>~§Xr ~) Ad‘wë¶Z

H$) nwZ‘y©ë¶m§H$Z S>) Kgmam

ii) ............. hm {Z¶m©VrMm AÑî¶ ^mJ Amho.

A) gm°âQ>doAa godm ~) ‘{eZar

H$) gm‘J«r S>) Am¡fYo

iii) ~hþamï´>r¶ H§$nÝ¶m§Mo ‘w»¶mb¶ ............ XoemV AgVo.

A) ñdV:À¶m XoemV ~) eoOmaÀ¶m XoemV

H$) ì¶dgm¶ H$m¶©aV XoemV S>) gd© Xoem§V

iv) ............. ¶m ~mOmam‘Ü¶o EH$m XoemÀ¶m MbZmMm Xÿgè¶m XoemÀ¶m MbZm ~amo~a ì¶mnma
Ho$bm OmVmo.

A) {dXoer {d{Z‘¶ ~mOma ~) nV~mOma

H$) ZmUo~mOma S>) ^m§S>db ~mOma

v) ì¶dhmaVmobmVrb Mmby ImË¶m‘Ü¶o ........... Mr Zm|X Ho$br OmVo.

A) dñVy§Mr Am¶mV {Z¶m©V ~) gaH$maÀ¶m H$O© {df¶H$ YmoaUmVrb ~Xb

H$) gaH$mar Jw§VdUyH$ S>) naXoemVyZ Am{U naXoemV Ho$bobr Jw§VdUyH$

vi) Am§Vaamï´>r¶ ZmUo{ZYrMr ñWmnZm ............ ¶m dfu Pmbr.

A) 1950 ~) 1949

H$) 1946 S>) 1951
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~) OmoS>¶m bmdm. [5]

A JQ> ~ JQ>

i) gmH©$ A) l{‘H$ g§KQ>Zm

ii) OmJ{VH$ ì¶mnma g§KQ>Zm ~) pñWa d ~XbVo {d{Z‘¶Xa

iii) ì¶dhmaVmob H$) WTO

iv) ~m¡{ÕH$ {ZñgmaU S>) àmXo{eH$ g§KQ>Zm

v) na{H$¶ {d{Z‘¶ B) Mmby ImVo d ^m§S>dbr ImVo

à.à.à.à.à.2) ì¶dhmaVmobmVrb Ag‘Vmob Xÿa H$aÊ¶mMo Cnm¶ ñnï> H$am. [15]

à.à.à.à.à.3) na{H$¶ {d{Z‘¶ ~mOmamMr aMZm Am{U H$m¶} ñnï> H$am. [15]

à.à.à.à.à.4) l‘mÀ¶m ñWbm§VamMm AW© gm§JyZ Ë¶mMr H$maUo Am{U n[aUm‘ ñnï> H$am. [15]

à.à.à.à.à.5) OmJ{VH$ ì¶mnma g§KQ>ZoMr CX²Xrï>ço Am{U H$m¶} ñnï> H$am. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) ê$n¶mMr n[adV©{Z¶Vm

~) na{H$¶ {d{Z‘¶ ~mOma

H$) ~m¡{ÕH$ {ZñgmaU

S>) Am§Vaamï´>r¶ ZmZo{ZYr

B) OmJ{VH$ ~±H$


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[5801]-605
T.Y.B. Com.

364 : AUDITING & TAXATION - II
(2019 Pattern) (Semester -VI)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use to calculator is allowed.

P2987 [Total No. of Pages : 8

SEAT No. :

Q1) A) Select the correct option from the, following multiple options. [5]

i) __________ is a unique 10 digit alpha-numeric number to identify
an assessee.

a) TAN b) PAN

c) Aadhar d) TIN

ii) ________ % of NAV is allowed as standard deduction case at
layout property.

a) 30% b) 50%

c) 20% d) 10%

iii) A resident individual can avail rebate U\S 87A, if the taxable income
does not exceed__________

a) H 2,50,000 b) H 3,00,000

c) H 5,00,000 d) H 3,50,000

iv) Advance tax of not less than 15%  is payable___________

a) On or before 15th march

b) On or before 15th June

c) On or before 15th september

d) On or before 15th December

v) SFT stands for___________

a) Spcial financial tracks.

b) Small financial transactions

c) Special financial transaction

d) Special for taxation.

P.T.O.
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B) Write the following definitions: [5]

i) Person

ii) Annual information return (AIR)

iii) Tax deducted at soure (TDS)

iv) Short term capital Gain

v) Allowances

C) Write the short notes (any 2) [10]

i) Perquisites

ii) Provident fund

iii) Types of house property.

Q2) Solve any 3 problems out of 4 [30]

a) Miss Rakhi, Chandwad has the following salary structure. [10]

Basic Salary H 30,000 p.m.

D.A (Not forming the part of retirement benefit) H 10,000 p.m.

Hostel Allowance H 2,000 p.m.

Tiffin Allowance H 1,000 p.m.

Transport Allowance H 4,000 p.m.

Bonus H 40,000 p.a.

Commission H 30,000 p.a.

Free refreshment in the office H 10,000 p.a.

Free meals for 270 working days costing H 300 per meal

Mobile phone facility H 1,800 p.m.

She has been provided with 1800 cc along with driver for both private
and office purpose, She has paid professional Tax @ H 220 p.m. compute
her net salary for A.Y. 2022-23
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b) Compute income under the head income from house property of Shriram
from the following information for A.Y. 2022-23 house 1 and House 2
has been occupied for own residence house 3 is used for own business.
All the loans on the 3 properties have been taken before 1.4.99. [10]
Particulars House 1 House 2 House 3

Muncipal value 6,56,250 3,93,750 5,68,750

Fair Rent 3,93,750 3,93,750 3,50,000

Standard Rent 5,25,000 4,55,000 3,50,000

Munciple tax 15% 15% 15%

Repairs 8,750 12,960 31,330

Godown rent - - -

Ground rent 8880 18,390 61,300

Interest on loan 40,000 1,00,000 20,000

c) Follwing is the profit & Loss A/C of Mrs. Vedika for the P.Y. 2021-22 [10]
Profit & Loss A/C

Dr. Cr.

Particulars H Particulrs H

To Repairs on Building 1,75,500 By Gross Profit 8,16,750

To Intrest 1,48,500 By Income Tax refund 2025

To Travelling 1,75,500 By Dividend 4,725

To Contribution to research 1,35,000 By Interest on Deposit 7,425

To Professional tax 743

To advertisement 68,850

To Net profit 1,26,832

8,30,925 8,30,925

 Other information :

i) Repair of Building includes H1,01,250 Spent for construction of
compound wall around the business premises.

ii) Interest includes H60,750 payable outside, India on which TDS not
been deduced.

iii) Personal travelling for private purpose H3,375

iv) Contribution made for scientific research is the approved amount

v) Depreciation allowable as per income Tax H20,925

Compute taxable income for business of mrs. Vedika for the
A.Y. 2022-23
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d) Mr. Deva chandra has the following income for the F.Y. 2021-22 [10]

Gross salary H 6,52,800

House property Nill (Self occupied)

Short term capital Gain on sale of shares H 43,350

(Subject to security transaction tax)

Long term capital Gain H 18,700

Other Income

Bank interest H 5,950

Dividend on shares of Indian companies H 6,800

Interest on Government securities H 4,250

Interest on debenture H 10,200

Interest on P PF H 7,650

Mr. Devchandra made the following investment during the year
contribution to RPF H 7,956

Deposit in PPF account H 4,250

LIC Premium H 5,100

Compute his taxable income and tax liability for the A.Y. 2022-23 under
old regine.


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364 : AUDITING & TAXATION - II
(2019 Pattern) (Semester - VI)

 (‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) H¡$ë³¶wboQ>a dmnaÊ¶mg nadmZJr Amho.
4) Amdí¶H$ Agë¶mg B§J«Or àíZn{ÌH$m nhmdr.

P2987

à.à.à.à.à.1) A) Imbr {Xboë¶m n¶m©¶mVwZ ¶mo½¶ n¶m©¶ {ZdS>m. [5]

i) .............. H$aXmË¶mbm AmoiIÊ¶mgmR>r EH$ A{ÛVr¶ 10 A§H$ Aën g§»¶mË‘H$ g§»¶m
Amho.

A) Q>°Z ~) n°Z

H$) AmYma S>) Q>rZ

ii) ...........% J¥hg§nÎmrÀ¶m ̂ mS>¶mVyZ {‘iUmè¶m dm{f©H$ ‘wë¶ ‘mZH$ dOmda åhUwZ AZw‘V
Amho.

A) 30% ~) 50%

H$) 20% S>) 10%

iii) Á¶m a{hdmgr ì¶º$s Mo H$anmÌ CËnÞ ............... nojm OmñV Zgob Aer ì¶º$s H$b‘
87 A  Imbr gwQ> Kodw eH$Vo.

A) H 2,50,000 ~) H 3,00,000

H$) H 5,00,000 S>) H 3,50,000

iv) Á¶m§Mo AmJmD$ H$a 15% nojm H$‘r Zmhr Aí¶m ì¶º$s¨Zm ................ ¶m VmaIoÀ¶m AmV
Xo¶ Amho.

A) 15 ‘mM© qH$dm Ë¶mAJmoXa ~) 15 OwZ qH$dm Ë¶mAJmoXa

H$) 15 gßQ>|~a qH$dm Ë¶mAJmoXa S>) 15 {S>g§o~a qH$dm Ë¶mAJmoXa

v) SFT åhUOo

A) {deof Am{W©H$ Q´>°H$ ~) N>moQ>o Am{W©H$ ì¶dhma

H$) {deof Am{W©H$ ì¶dhma S>) H$a AmH$maUrgmR>r {deof
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~) Imbrb g§km ñnï> H$am. [5]

i) ì¶º$s

ii) dm{f©H$ ‘m{hVr {ddaUnÌ (AIR)

iii) CJ‘ (ñÌmoV) da hmoUmar H$a H$nmV

iv) AënH$mbrZ ^m§S>dbr Z’$m

v) ^Îmo

H$) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

i) gmo¶r d gw{dYm

ii) {Zdm©h {ZYr

iii) Ka‘mb‘ÎmoMo àH$ma

à.à.à.à.à.2) {Xboë¶m 4 CXmhaUmVwZ H$moUVonU 3 gmoS>dm : [30]

A) lr‘Vr amIr, Mm§XdS> ¶m§Zr nJmamnmgyZ {‘iUmè¶m {‘iH$VrMr ‘m{hVr CnbãY H$ê$Z {Xbobr
Amho. [10]

‘wi nJma H 30,000 à{V. ‘hm.

‘hmJmB© ^Îmm ({Zd¥Îmr doVZmV Yabm OmUma Zmhr) H 10,000 à{V. ‘hm.

dgVrJ¥h ^Îmm H 2,000 à{V. ‘hm.

S>ã~m ^Îmm H 1,000 à{V. ‘hm.

dmhVwH$ ^Îmm H 4,000 à{V. ‘hm.

~moZg H 40,000 à{V. df©.

H${‘eZ H 30,000 à{V. df©.

H$m¶m©b¶mV {‘iUmam ‘mo’$V Aënmohma H 10,000 à{V. df©.

270 {XdgmH$[aVm ‘mo’$V OodZ H 300 à{V. OodZ

‘mo~mB©b ’$moZ gmo¶ H 1,800 à{V. ‘hm.

lr‘Vr amIr ¶m§Zm 1800 gr. gr. H$ma Ś>m¶ìha gh {Xbr AgwZ H$maMm dmna hm ImOJr VgoM
H$m¶m©b¶rZ H$m‘mgmR>r Ho$bm OmVmo. VgoM ¶m§Zr ì¶dgm¶ H$a dOmdQ> hr à{V ‘hm H 220 Amho.
d[ab ‘m{hVrÀ¶m AmYmao H$a {ZYm©aU df© 2022-23 gmR>r nJmamVwZ {‘iUmao {Zìdi doVZ emoYm.
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~) lr. lram‘ ¶m§À¶m ‘mbH$sMo 3 Kao AmhoV. Ka H«§$. 1 d 2 Vo ñdV:À¶m amhÊ¶mgmR>r dmnaVmV d Ka
H«§$. 3 ¶mMm dmna  ì¶dgm¶mgmR>r H$aVmV. gd© Ka ‘mb‘Îmodarb H$O© ¶m§Zr 1.4.99 ¶m AJmoXa
KoVbobo AmhoV. lram‘ ¶m§Mo J¥hg§nÎmr nmgwZ {‘iUmao CËnÞ emoYm. [10]

Vnerb Ka H«§$. 1 Ka H«§$. 2 Ka H«§$. 3

ZJanmbrH$m ‘wë¶m§H$Z 6,56,250 3,93,750 5,68,750

dmOdr ^mS>o 3,93,750 3,93,750 3,50,000

à‘mUrV ^mS>o 5,25,000 4,55,000 3,50,000

ZJanmbrH$m H$a 15% 15% 15%

Xþê$ñVr 8,750 12,960 31,330

JmoXm‘mMo ^mS>o - - -

O‘rZ ^mS>o 8880 18,390 61,300

H$Om©darb ì¶mO 40,000 1,00,000 20,000

H$) lr‘Vr doXrH$m ¶m§Zr Am{W©H$ df© 2021-22 gmR>rMo Z’$m VmoQ>m nÌH$ {Xbo Amho. [10]

Dr.          Z’$m VmoQ>m nÌH$ Cr.

Vnerb a¸$‘ H Vnerb a¸$‘ H

B‘maV Xþê$ñVr 1,75,500 T>mo~i Z’$m 8,16,750

ì¶mO 1,48,500 àË¶j H$a naVmdm 2025

àdmg 1,75,500 bm§^me 4,725

g§emoYZmgmR>r ¶moJXmZ 1,35,000 R>odrdarb ì¶mO 7,425

ì¶dgm¶ H$a 743

Om{hamV 68,850

{Zìdi Z’$m 1,26,832

8,30,925 8,30,925

BVa ‘m{hVr :
i) B‘maV Xþê$ñVr ‘Yrb H1,01,250 hm IM© ì¶dgm¶ B‘maVr ~mOwbm q^VrMo H§$nmD$S>

~m§YÊ¶mgmR>r Pmbm Amho.
ii) ì¶mO ‘Ü¶o g‘m{dï> AgUmao H60,750 ho ̂ maVm~mhoarb {‘iH$V AgwZ Ë¶mda Q>r.S>r.Eg.

dOmdQ> Pmbobr Zmhr.
iii) ñdV:À¶m àdmgmMm IM© ñdV:gmR>r H3,375 Pmbobm Amho.
iv) g§emoYZmgmR>r {Xbobo ¶moJXmZ ho H$m¶X¶mÀ¶m ‘¶m©XoÀ¶m A§VJ©V Amho.
v) àË¶j H$a H$m¶X¶mà‘mUo Kgmam hm H20,925 ‘mÝ¶ Amho.

darb {Xboë¶m ‘m{hVrÀ¶m AmYmao H$a {ZYm©aU df© 2022-23 gmR>r ì¶dñmm¶mnmgyZ {‘iUmao
H$anm‘ CËnÞ emoYm.
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S>) lr XodM§Ðm ¶m§Zr Am{W©H$ df© 2021-22 H$arVm {‘imboë¶m CËnÞmMr d J§wVdUwH$sMr ‘m{hVr
{Xbr Amho. [10]

T>mo~i nJma H 6,52,800

J¥hg§nÎmr nmgwZ {‘iUmao CËnÞ Nill (ñdV:À¶m amhÊ¶mgmR>r)

AënH$mbrZ ^m§S>dbr Z’$m (^mJ {dH«$s) H 43,350

(gwajm ì¶dhma H$am ghrV)

XrK©H$mbrZ ^m§S>dbr Z’$m H 18,700

BVa CËnÞ :

~±Ho$Vrb ì¶mO H 5,950

^maVr¶ H§$nZrH$Sy>Z {‘imbobm bm§̂ me H 6,800

gaH$mar Jw§VdUwH$sdarb ì¶mO H 4,250

H$O©amo»¶mdarb ì¶mO H 10,200

^{dî¶ {Zdm©h {ZYr darb ì¶mO H 7,650

lr XodM§Ðm ¶m§Zr Imbrb Jw§VdUwH$ Ho$ë¶m AmhoV.

‘mÝ¶Vmàmá ^{dî¶ {Zdm©h {ZYr H 7,956

gmd©O{ZH$ ^{dî¶ {Zdm©h {ZYr ‘Ü¶o Jw§VdUwH$ H 4,250

Am¶w©{d‘m hám H 5,100

lr XodM§Ðm ¶m§Mo H$a{ZYm©aU df© 2022-23 H$arVm H$anm‘ CËnÞ d H$aXo¶Vm H$mT>m.

(H$aXo¶Vm H$mT>Vm§Zm OwÝ¶m emgZmÀ¶m VaVwXrMm dmna H$amdm)


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P4019

Q1) A) Fill in the blank with most appropriate alternative (any five) : [5]
i) The concept of marketing is based on _______ in modern times.

a) Customer b) Sale
c) Profit d) Publicity

ii) If all the components of marketing mix are used properly, ________
can be achieved.
a) Publicity b) Product
c) Profit d) Refund

iii) Consumer goods are considered in _________.
a) Original Production b) Basic Production
c) Expected Production d) Potential Production

iv) ________ this factor is important to impress customers.
a) Direct Advertising b) Marketing
c) Promotion d) Market

v) Publicity of goods or services is called _________.
a) Advertising b) Distribution
c) Market d) Sale

vi) When production organizations produce goods on the principle of
‘no profit no loss’, the goods are considered to be in the _________
stage of the product life cycle.
a) Start b) Growth
c) Stability d) Peak point

SEAT No. :

P.T.O.
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B) Match the following : [5]
Column A Column B

1) Marketing  objective a) Family Brand
2) Consumer Market b) Mass Marketing
3) Packaging c) P’s of Marketing Mix
4) Huge portion of audience d) Job analysis Technique
5) Bajaj group e) Customer satisfaction

Q2) Write a short note (Any 2) : [10]
a) Nature of Marketing
b) Advantages of Market segmentation
c) Branding
d) Difference between Advertising and Publicity

Q3) a) Explain the Scope and Objectives of Marketing. [8]
b) What is Marketing Mix? Explain seven P’s of Marketing Mix. [7]

Q4) a) Explain the term brand along with [8]
i) Brand Loyalty
ii) Brand Extension

b) What is advertising? Explain types of advertising media. [7]


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gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

P4019

àíZ 1) A) [aH$må¶m OmJm ^am (H$moUË¶mhr 5) [5]
i) {dnUZ hr g§H$ënZm AmYw{ZH$ H$mimV ............. da AmYmarV Amho.

A) J«mhH$ ~) {dH«$s
H$) Z’$m S>) à{gÕr

ii) {dnUZ {‘lÀ¶m gd© KQ>H$m§Mm ¶mo½¶ àH$mao dmna Ho$ë¶mg ............. {‘idVm ¶oVmo.
A) à{gÕr ~) CËnmXZ
H$) Z’$m S>) naVmdm

iii) J«mhH$mon¶moJr dñVy§Mm {dMma .............. ‘Ü¶o Ho$bm OmVmo.
A) ‘yi CËnmXZ ~) ‘yb^yV CËnmXZ
H$) Ano{jV CËnmXZ S>)  g§̂ mì¶ CËnmXZ

iv) J«mhH$m§Zm à^m{dV H$aÊ¶mgmR>r .............. hm KQ>H$ ‘hÎdmMm Amho.
A) àË¶j Om{hamV ~) {dnUZ
H$) àdV©Z S>) ~mOmanoR>

v) dñVy qH$dm godoMr H$aÊ¶mV ¶oUmar à{gÕr åhUOo .............. hmo¶.
A) Om{hamV ~) {dVaU
H$) ~mOmanoR> S>) {dH«$s

vi) Ooìhm CËnmXZ g§ñWm "Zm Z’$m Zm VmoQ>m' ¶m VËdmda dñVy§Mo CËnmXZ H$aVmV, Vr dñVy
OrdZ MH«$mMr .............. AdñWm ‘mZbr OmVo.
A) Ama§^ ~) d¥Õr
H$) ñW¡¶© S>) gdm}ƒ q~Xÿ

P.T.O.
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~) ¶mo½¶ OmoS>çm bmdm. [5]
aH$mZm "A' aH$mZm "~'

1) {dnUZ C{Ôï> A) Hw$Qy>§~ ~«±S>
2) J«mhH$ ~mOmanoR> ~) ‘mg {dnUZ
3) n°Ho$OtJ H$) {dnUZ {‘lMo "nr'
4) ‘moR>çm à‘mUmdarb àojH$ S>) H$m¶© {díbofU V§Ì
5) ~OmO g‘wh B) J«mhH$ g‘mYmZ

àíZ 2) {Q>nm {bhm. (H$moUË¶mhr 2) [10]
A) {dnUZmMo ñdê$n
~) ~mOmanoR> {d^mOZmMo ’$m¶Xo
H$) ~«±S>tJ
S>) Om{hamV Am{U à{gÕr ‘Yrb ’$aH$

àíZ 3) A) {dnUZmMr ì¶már Am{U CÔrï>ço ñnï> H$am. [8]
~) {dnUZ {‘l åhUOo H$m¶? {dnUZ {‘lMo 7 nr ñnï> H$am. [7]

àíZ 4) A) ~±«S> ¶m eãXmgh ñnï> H$am. [8]
i) ~±«S> {Zð>m
ii) ~±«S> {dñVma

~) Om{hamV åhUOo H$m¶? Om{hamV ‘mÜ¶‘m§Mo àH$ma ñnîQ> H$am. [7]


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SEAT No. :

Q1) a) Fill in the blanks (Any Five) [5]

i) _________ is an Index of national stock Exchange

a) NIFTY b) SENSEX

c) Nasdaq d) Hang seng

ii) _________ companies are comprises in the sensex

a) 50 b) 100

c) 30 d) 25

iii) The lot size of NIFTY option is__________

a) 25 b) 50

c) 75 d) 100

iv) Headquarter of Life Insurance corporation (LIC) is situated
at_________

a) New Delhi b) Mumbai

c) Kolkata d) Pune

v) General Insurance company was incorporated on_________

a) December 5, 1906 b) December 5,1949

c) April 1, 1949 d) April 1, 1935

vi) The chairman of SEBI is appointed by____________

a) IRDA b) Prime Minister

c) RBI d) Ministry of Finance

P.T.O.
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b) Match the following. [5]

A B

i) NIFTY a) New issue Market

ii) SEBI b) 1956

iii) Primary Market c) 1992

iv) LIC d) Public Issue

v) IPO e) 50 Companies

Q2) Write short notes (Any Two) [10]

a) De-mat Account.

b) Trade settlement.

c) Mutual Fund.

d) IRDA.

Q3) a) Explain National Stock Exchange. [8]

b) State the carrier opportunities in stock market. [7]

Q4) a) Explain the functions of Housing Finance. [8]

b) Explain the functions of SEBI. [7]


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doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm … 1) gd© àíZ A{Zdm ©̀ AmhoV.
2) COì`m ~mOyMo A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

P2988

à.à.à.à.à.1) A) [aH$må`m OmJm ^am. (H$moUVohr nmM) [5]

i) ............ hm amï´>r` amoIo~mOmamMm {ZX}em§H$ Amho.

A) {ZâQ>r ~) goÝgoŠg

H$) Z°ñS>°H$ S>) h±Jg|J

ii) goÝgoŠg_Ü ò ............. H§$nÝ`m g_m{dï> hmoVmV.

A) 50 ~) 100

H$) 30 S>) 25

iii) {ZâQ>r Am°ßeZMm bm°Q> AmH$ma ............ AgVmo.

A) 25 ~) 50

H$) 75 S>) 100

iv) Am ẁ{d©_m _hm_§S>mimMo _w»`mb` ............. ̀ oWo Amho.

A) Zdr {X„r ~) _w§~B©

H$) H$mobH$mVm S>) nwUo

v) gm_mÝ` {d_m _hm_§S>mimMr ñWmnZm ........... amoOr Pmbr.

A) 5 {S>g|~a 1906 ~) 5 {S>g|~a 1949

H$) 1 E{àb 1949 S>) 1 E{àb 1935

vi) go~rÀ`m AÜ`jm§Mr {Z`wº$s ................ H$aVo.

A) Am`.Ama.S>r.E. ~) n§VàYmZ

H$) Ama.~r.Am`. S>) {dÎm_§Ìmb`
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~) OmoS>çm Owidm. [5]
  A     ~

i) {ZâQ>r A) Zd-amoIo àMmbZ ~mOma
ii) go~r ~) 1956

iii) àmW{_H$ ~mOma H$) 1992

iv) Eb.Am`.gr. S>) gmd©O{ZH$ àMmbZ
v) Am`.nr.Amo. B) 50 H§$nÝ`m

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr XmoZ) [10]

A) {S>-_°Q> ImVo

~) Q´>oS> g_m`moOZ

H$) nañna {ZYr

S>) Am`.Ama.S>r.E.

à.à.à.à.à.3) A) amï´>r` amoIo ~mOma ñnï> H$am. [8]

~) eoAa ~mOmamVrb ZmoH$ar d ì`dgm`mÀ`m g§Yr gm§Jm. [7]

à.à.à.à.à.4) A) J¥h{dÎm H§$nÝ`m§Mr H$m }̀ ñnï> H$am. [8]

~) go~rMr H$m`} ñnï> H$am. [7]


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SEAT No. :

Q1) A) Fill in the blanks with the most appropriate alternative (any five).  [5]

a) Company Law in India has been modelled on the _____ company
law. (English, American, Russian)

b) The 1st Companies Act was passed in India in ______ .
(1830, 1850, 1857).

c) As per majority rule, a resolution passed by the majority of members
in binding on the company and consequently on the _____ .
(Minority, Creditors, Directors)

d) The Serious fraud investigation office shall be headed by _____ .
(Member, Inspector, Director)

e) Corporations are controlled and directed by _____ .
(Corporate Ethics, Corporate Governance, Corporate code)

f) Corporate Governance is a form of _____ .
(Self-Regulation, Government Control, External Regulations)

P.T.O.
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B) Match the following. [5]

Column A Column B

i) The Companies Act, 1956 a) Sale of asset for the benefits
of directors themselves

ii) Oppression & Mismanagement b) Ministry of Corporate Affairs

iii) Compromise c) Cadbury Committee

iv) Good Governance & Accountability d) Bhabha Committee

v) Management of all Companies in India e) The Result of Dispute

Q2) Write a short note (any 2) [10]

a) Social Responsibilities of Companies.

b) Protection of Minority Interest.

c) Scheme of Compromise and Arrangement.

d) Importance of Corporate Governance.

Q3) a) What is company? Explain the characteristics of company. [8]

b) Explain the provisions to prevention of Oppression & Mismanagement. [7]

Q4) a) Explain the rights and duties of company inspector. [8]

b) What is corporate governance? State the principles of corporate
governance. [7]





3[5801]-608

Total No. of Questions : 4]

[5801]-608
T.Y. B.Com.

365 (c) : BUSINESS LAW & PRACTICES - II
(CBCS 2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb {Xbobr g§»¶m nyU© JwU Xe©{dVmV.

P2989

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ^maVmVrb H§$nZr H$m¶Xm ................. H§$nZr H$m¶X²¶mda AmYm[aV AmhoV.

(B§J«Or, A‘o[aH$Z, a{e¶Z)

ii) ^maVmV n{hbm H§$nZr H$m¶Xm ............... ‘Ü¶o nmg H$aÊ¶mV Ambm.

(1830, 1850, 1857)

iii) ~hþ‘VmÀ¶m {Z¶‘mZwgma, ~hþg§»¶ g^mgXm§Zr nmg Ho$bobm R>amd H§$nZrda Am{U ............
da ~§YZH$maH$ AgVmo.

(Aëng§»¶m§H$, F$UH$mo, g§MmbH$)

iv) J§̂ ra ’$gdUyH$ Vnmg H$m¶m©b¶mMo à‘wI ............... AgVmV.

(g^mgX, {ZarjH$, g§MmbH$)

v) ì¶mdgm{¶H$ g§ñWm§Mo {Z¶§ÌU Am{U {ZX}eZ ................... Ûmao Ho$bo OmVo.

(ì¶mdgm{¶H$ {ZVr‘wë¶o, H$m°nm}aoQ> àemgZ, ì¶mdgm{¶H$ g§{hVm)

vi) H$m°nm}aoQ>> JìhZ©Ýg hm ............... Mm EH$ àH$ma Amho.

(ñd¶§-{Z¶‘Z, gaH$mar {Z¶§ÌU, ~mø {Z¶‘Z)
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~) ¶mo½¶ OmoS>çm bmdm. [5]

aH$mZm A aH$mZm ~

i) H§$nZr H$m¶Xm 1956 A) g§MmbH$m§Zr ñdV:À¶m ’$m¶X²¶mgmR>r
‘mb‘ÎmoMr {dH«$s H$aUo

ii) XS>nemhr Am{U J¡aì¶dñWmnZ ~) H$m°nm}aoQ>> ì¶dhma ‘§Ìmb¶

iii) VS>OmoS> H$) H°$S>~arg{‘Vr

iv) gw-emgZ Am{U CÎmaXm{¶Ëd S>) ^m^mg{‘Vr

v) ^maVmVrb gd© H§$nÝ¶m§Mo ì¶dñWmnZ B) dmXmMm n[aUm‘

à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) H§$nZrÀ¶m gm‘m{OH$ O~m~Xmè¶m

~) Aëng§»¶mH$ g^mgXm§À¶m {hVmMo g§ajU

H$) VS>OmoS> Am{U ì¶dñWm ¶moOZm

S>) H$m°nm}aoQ> JìhZ©ÝgMo ‘hÎd

à.à.à.à.à.3) A) H§$nZr åhUOo H$m¶? H§$nZrMr d¡{eï>²¶o ñnï> H$am. [8]

~) XS>nemhr Am{U J¡aì¶dñWmnZ amoIÊ¶mgmR>rÀ¶m VaVwXr ñnï> H$am. [7]

à.à.à.à.à.4) A) H§$nZr {ZarjH$mMo h¸$ Am{U H$V©ì¶o ñnï> H$am. [8]

~) H$m°nmo©aoQ>> JìhZ©Ýg åhUOo H$m¶? H$m°nm©oaoQ> JìhZ©ÝgMr VÎdo ñnï> H$am. [7]


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Q1) A) Fill in the blanks (any five).  [5]
i) Agriculture export is essential for ______

a) Economic growth
b) Domestic growth
c) Income growth

ii) NAFED is registered under _____
a) Multi State Society Act
b) Co-operative Act
c) Company Act

iii) APMCs can dissolve by _____ government.
a) Central
b) State
c) Local

iv) Union government prepared Model Act in _____
a) 1903
b) 1803
c) 2003

v) The largest marketing federation in India is _____
a) SAFED
b) NAFED
c) NABARD

vi) The area of NAFED is _____
a) State
b) Nation
c) District

P.T.O.
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B) Match the following. [5]

A B

i) Formation of APMC a) New market & Product

ii) Product development strategy b) MAPMC Act

iii) Opportunities to formers c) Saling agriculture  goods
abroad

iv) Export marketing d) APMC

v) Management of APMC e) Board of Directors

Q2) Write short notes (any two). [10]

a) Performance of NAFED.

b) Scope of APMC.

c) Problems of APMC.

d) Impact on Agriculture marketing.

Q3) a) State the factors influencing marketing strategy of Co-operatives. [8]

b) State the objectives of NAFED. [7]

Q4) a) State the progress of APMC. [8]

b) State the main provisions in model APMC Act 2003. [7]


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à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]
i) H¥$fr {Z¶m©V ............. gmR>r ‘hËdmMr Amho.

A) Am{W©H$ d¥{Õ
~) KaJw{V d¥{Õ
H$) CËnÞ d¥{Õ

ii) Zm’o$S> Mr Zm|XUr ................. Ûmao Pmbobr Amho.
A) ~hÿamÁ¶ gmogm¶Q>r H$m¶Xm
~) ghH$mar H$m¶Xm
H$) H§$nZr H$m¶Xm

iii) H¥$fr CËnÞ ~mOma g{‘Ë¶m ............. gaH$ma {dg{O©V H$ê$ eH$VmV.
A) Ho$ÝÐ
~) amÁ¶
H$) ñWm{ZH$

iv) Ho$ÝÐ gaH$maZo AYy{ZH$ H$m¶Xm .............. dfu V¶ma Ho$bm.
A) 1903
~) 1803
H$) 2003

v) ^maVmVrb gdm©V ‘moR>o {dnUZ g§K ................ Amho.
A) amÁ¶ {dnUZ ‘hmg§K
~) Zm’o$S>
H$) Zm~mS>©

vi) Zm’o$S> Mr ì¶már .............. Amho.
A) amÁ¶
~) XoemV
H$) {Oëh¶mV
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~) Imbrb OmoS>çm Owidm. [5]

"A' "~'

i) H¥$fr CËnÞ ~mOma g{‘Ë¶m§Mr ñWmnZm A) Z{dZ ~mOma d CËnmXZ

ii) CËnmXZ {dH$mg ì¶yhaMZm ~) ‘hmamîQ´> H¥$fr CËnÞ ~mOma g{‘Vr
H$m¶Xm

iii) eoVH$è¶m§Zm g§Yr H$) ^maVm~mhoa H¥$fr‘mb {dH«$s

iv) {Z¶m©V {dnUZ S>) H¥$fr CËnÞ ~mOma g{‘Ë¶m>

v) H¥$fr CËnÞ ~mOma g{‘Ë¶m§Mo ì¶dñWmnZ B) g§MmbH$ ‘§S>i

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) Zm’o$S>Mr H$m‘Jrar

~) H¥$fr CËnÞ ~mOma g{‘Ë¶m§Mr ì¶már

H$) H¥$fr CËnÞ ~mOma g{‘Ë¶m§À¶m g‘ñ¶m

S>) H¥$fr {dnUZmdarb n[aUm‘

à.à.à.à.à.3) A) ghH$marVrb {dnUZ ì¶yhaMZoda n[aUm‘ H$aUmao KQ>H$ gm§Jm. [8]

~) Zm’o$S> Mr C{Ôï>ço gm§Jm. [7]

à.à.à.à.à.4) A) H¥$fr CËnÞ ~mOma g{‘Ë¶m§Mr H$m‘Jrar gm§Jm. [8]

~) H¥$fr CËnÞ ~mOma g{‘Ë¶m§Mm AYy{ZH$ H$m¶Xm 2003 Mr ‘w»¶ d¡{eï>¶o gm§Jm. [7]


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Q1) A) Fill in the blanks (any five out of 6). [5]
a) _____ is a system in which costs are assigned to batches or work

orders of production.

i) Job costing ii) Contract costing

iii) Process costing iv) Marginal costing

b) _____ is a special type of job costing, where the unit of cost is a
single contract.

i) Prime cost ii) WIP cost

iii) Contract Costing iv) Total cost

c) ______ is someone who is hired to build something.

i) Contractor ii) Manager

iii) Entrepreneur iv) Director

d) ______ is a method wherein the products go through two or more
processes.

i) WIP ii) Process costing

iii) Joint process iv) By process

e) _______ are two or more products that are generated within a
single production process.

i) Single products ii) By products

iii) Joint products iv) WIP products

f) ______ is a method of cost ascertainment used in those undertakings
which provide services.

i) Service costing ii) Total costing

iii) By products iv) Production costs

P.T.O.
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B) Match the following. [5]

1) Work certified a) Secondary product

2) Service costing b) Inherited loss

3) Normal loss c) Cost unit per meter

4) Cotton Mills d) Transportation service

5) By-product e) Work completed and
certified by the engineer

Q2) Short notes (any two out of three). [10]

a) Escalation clause.

b) Process costing.

c) Cost of service cost center.

Q3) The following are the particulars relating to contract which has began on
1st January, 2021 : [15]

Particulars Amt

Contract Price 6,00,000

Machinery as on 01/01/2021 30,000

Materials issued 1,70,600

Wages paid 1,48,750

Direct Expense 6,330

Cash received 3,51,000

Value of work certified 3,90,000

Outstanding wages 5,380

Work uncertified 12,000

Overheads 8,240

Material returned to stores 1,600

Material at site on 31/12/2021 3,700

Machinery at site on 31/12/2021 22,000

Prepare Contract Account for the year ended 31/12/2021.
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Q4) X Ltd. manufactures a product which passes through two process that is
A and B. It is ascertained that in each process 10% of the total weight is
lost and 20% is scrap. The realisation from scrap amounts to Rs. 160 per ton
and Rs. 400 per ton form process A and process B respectively. The cost
figures relating to processes are as follows. [15]

Particulars Process A Process B

Materials consumed 2000 tons 140 tons

Cost of materials per ton (Rs.) 250 400

Direct Wages (Rs.) 36000 24000

Chargeable Expenses (Rs.) 11000 12960

Prepare process Account showing the cost per ton of output in each process.

OR

From the following information relating to the vehicle, calculate the cost per
running kilometer. [15]

Particulars

Cost of Vehicle 1,00,000

Road License Fees (annual) 5,100

Garage Rent (annual) 4,800

Insurance Charges (annual) 2,100

Supervision and salary (annual) 12,000

Drivers Wages per hour 2.00

Cost of Diesel per liter 4.00

Repairs and Maintenance per km 2.20

Tyres and Batteries per km 1.80

Kilometers run per liter 20 km

Kilometers run annually 20000 km

Estimated Life of the vehicle 100000 km.

You are required to charge interest on cost of vehicle @10% p.a. the vehicle
runs 20 km per hour on an average.


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Q1) Attempt the following.

A) Choose the correct alternative of the following: ( any five). [1 each]

a) The shape of Normal Curve is

i) Symmetrical Bell - Shaped ii) Flat

iii) Circular iv) Spiked

b) The complementary hypothesis to the null hypothesis is called as

i) Null Hypothesis ii) Alternative Hypothesis

iii) Two - sided iv) One sided

c) Let X → N(4, 0.5) then mean of X is

i) 8 ii) 4

iii) 0 iv) 1

d) We want to test H0 : Two attributes A and B are independent and
both the attributes are at two levels. Then under H0, the statistic
used is

i)
2
2χ ii)

2
4χ

iii)
2
3χ iv)

2
1χ

e) Testing H0 : μ = 50 against H1 : μ ≠ 50 is a

i) one sided left tailed test ii) one sided right tailed test

iii) two sided test iv) both i and ii

P.T.O.
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f) Stratified sampling is used when the population is:

i) Homogeneous ii) Heterogeneous

iii) Very Large iv) Too small

g) The ____ sum of squares measures the variability of the observed
values around their respective treatment means.

i) Error ii) Total

iii) Treatment iv) Interaction

B) State whether the following statements are TRUE or FALSE. [1 each]

a) Type I error is rejecting H0 when it is true.

b) In simple random sampling method, each unit of the population has
an equal chance of being included in the sample.

c) Total area under the normal curve remains 1 and it is true for all
continuous probability distributions.

d) ANOVA is the preferred method for finding differences among
several population proportions.

e) Large sample tests are used when n less than 30.

Q2) Write short note (any two). [5 each]

a) Simple Random Sampling Without Replacement (SRSWOR).

b) Systematic Sampling.

c) Analysis of Variance (ANOVA).

d) Chi-square test of goodness of fit for population.
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Q3) A) Attempt the following.

a) Let X be normally distributed random variable with parameters (100, 25)
that is [4]

X~N (100, 25). Calculate :

i) P(X > 108)

ii) P(90 < X < 110)

b) In a department examination, the candidates of both sexes yielded
as presented in following table: [4]

Sex Pass Fail

Male 1 6

Female 7 6

Can it have inferred that the result of the test is related to the sex of

the candidates? Use 5% level of significance. (Given : 
2

1χ , 0.05 = 3.841)

B) Attempt the following:

a) Fill in the blanks of the following ANOVA tables marked “–” [4]

Source of Degress of Sum of Mean Sum Variance

variation freedom squares of squares Ratio

Between 4 45 - -

Salesman

Batween 3 91 - -

Months

Error 8 80 -

Total 15 216

Test the homogeneity of machine types and workers. Use 5% level of
significance.
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b) Two manufacturers A and B supply piston rods of specified
diameters to a company. The company is interested in comparing
variability of the diameters of the product of these two manufacturers.
The measurements (in cm) of the diameters of the rods drawn
randomly from the rods supplied by A and B are as follows. Use
2% level of significance (Given : F11,9,0.02=5.11)
Diameters of rods supplied by A: 6.4,6.8,7.2,6.6,7.1,7.0,6.5,
7.1,6.9,7.3
Diameters of rods supplied by B : 6.9,6.5,6.6,7.4,6.2,6.8,7.0,7.3,
7.1,7.2, 6.4,6.7
Test whether variances in the diameters of rods supplied by
manufacturers  A and B are equal. [3]

Q4) A) Attempt the following.
a) The gain in weights (in lbs) of pigs fed on two diets A and B are

given below: [4]

Diet Gain in weight

A 25, 32, 30, 34, 24, 14, 32, 24, 30, 31, 35, 25

B 44, 34, 22, 10, 47, 31, 40, 30, 32, 35, 18, 21, 35, 29, 22

Test whether the two diets differ significantly regarding their effect on
increase in weights. [Given t25,0.05=2.0595]
b) In a random sample of 800 persons from rural area 200 were found

to be smokers. In a sample of 1000 persons from urban area 350
were found to be smokers. Test whether proportion of smokers is
same for both populations. (Use 5% level of significance). [4]

B) Attempt the following:
a) In a population of size 5 the values are 2, 3, 6, 8, 11. Draw all

possible sample of size 2 using SRSWOR. Verify that sample mean
in an unbiased estimator of population mean. [4]

b) Define Normal probability distribution, also state additive property
of two independent normal variates. [3]


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Q1) A. Fill in the blanks. (Attempt any five out of six) [5]
i) _________ is to estimate the demand of the proposed product in

the future.
a) Financial Plan
b) Price Analysis
c) Market analysis

ii) _______ is the discussion of basic and operation flow of the project.
a) Social Aspect
b) Technical Aspect
c) Human Resource Aspect

iii) ________ approach in business enterprise give to entrepreneur an
unfair advantage in enterprise.
a) Logical
b) Creative
c) Teamwork

iv) _________ occurs when an unexpected problem puts the statbility
of a company of organization at risk.
a) Business crisis
b) Emergency management
c) Control environment

SEAT No. :

P.T.O.



[5801]-612 2

v) Start-up India launched in the year ________.
a) 2014
b) 2015
c) 2016

vi) __________ is using your research to advertise business.
a) Marketing
b) Production
c) Research

B. Match the following : [5]
1. Industrial Sickness a. Risk Management Methods
2. Daily Hunt b. Leadership
3. Paytm c. Virendra Gupta
4. ERM d. Vijay Sharma
5. Business Crisis e. Lack of finance

Q2) Write a short notes (Attempt Any Two) [10]
a) Steps in business plan.
b) Logical Approach.
c) Causes of sickness.
d) Eligibility for startup’s in India.

Q3) a) Explain the objectives of business plan. [8]
b) Explain MSME Registration process along with its importance. [7]

Q4) a) Explain types of business crisis. [8]
b) Explain significance of startup. [7]


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(_amR>r ê$nm§Va)
doi : 2 Vmg]                      [EHy$U JwU : 50
gyMZm :- 1) gd© àíZmMr CÎmao {b{hUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

P4020

àíZ 1) A)A)A)A)A) [aH$må¶m OmJm ^am (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am (H$m oUË¶mhr nmM)[aH$må¶m OmJm ^am (H$m oUË¶mhr nmM) [5]
i) .............. åhUOo ^{dî¶mV àñVm{dV CËnmXZmÀ¶m ‘mJUrMm A§XmO bmdUo.

A) Am{W©H$ ¶moOZm
~) qH$‘V {díbofU
H$) ~mOmamMo {díbofU

ii) .............. hr àH$ënmÀ¶m ‘yb ŷV Am{U H$m¶©àdmhmMr MMm© Amho.
A) gm‘m{OH$ n¡by
~) Vm§{ÌH$ ~mOy
H$) ‘mZd g§gmYZ n¡by

iii) ............... ì¶dgm¶ E§Q>aàmBP‘Yrb Ñï>rH$moZ CX²¶moOH$mbm E§Q>aàmBP‘Ü¶o EH$
AÝ¶m¶H$maH$ ’$m¶Xm XoVmo.
A) Vm{H©$H$
~) {H«$E{Q>ìh
H$) Q>r‘dH©$

iv) ................ CX²̂ dVo Ooìhm EImXr AZno{jV g‘ñ¶m H§$nZr qH$dm g§ñWoMr pñWaVm
Ymo³¶mV AmUVo.
A) ì¶mdgm{¶H$ g§H$Q>
~) AmnËH$mbrZ ì¶dñWmnZ
H$) {Z¶§ÌU dmVmdaU

P.T.O.
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v) ñQ>mQ>©-An B§{S>¶m ¶m dfu gwê$ H$aÊ¶mV Ambo ...............
A) 2014
~) 2015
H$) 2016

vi) ............... ì¶dgm¶mMr Om{hamV H$aÊ¶mgmR>r Vw‘À¶m g§emoYZmMm dmna H$aV
Amho.
A) ‘mH}$qQ>J
~) CËnmXZ
H$) g§emoYZ

~) ¶mo½¶ OmoS>çm bmdm. [5]
1) Am¡X²çmo{JH$ AmOma A) OmoIr‘ ì¶dñWmnZ nÕVr
2) X¡{ZH$ emoYmemoY (Daily Hunt) ~) ZoV¥Ëd
3) noQ>rE‘ H$) dra|Ð Jwám
4) ERM S>) {dO¶ e‘m©
5) ì¶dgm¶ g§H$Q> B) {dÎmmMm A^md

àíZ 2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) ì¶dgm¶ ¶moOZoVrb nm¶è¶m.
~) Vm{H©$H$ Ñ{ï>H$moZ.
H$) AmOmanUmMr H$maUo.
S>) ^maVmVrb ñQ>mQ>©AngmR>r nmÌVm.

àíZ 3) A) ì¶dgm¶ ¶moOZoMr C{Ôï>o ñnï> H$am. [8]
~) E‘EgE‘B© Zm§oXUr à{H«$¶ogh {VMo ‘hÎd ñnï> H$am. [7]

àíZ 4) A) ì¶mdgm{¶H$ g§H$Q>mMo àH$ma ñnï> H$am. [8]
~) ñQ>mQ>©AnMo ‘hÎd ñnï> H$am. [7]





Total No. of Questions : 5]

[5801]-613
T.Y. B.Com.

365 (h) : MARKETING MANAGEMENT - II
(CBCS 2019 Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P2993 [Total No. of Pages : 4

SEAT No. :

Q1) Fill in the blanks with most appropriate word in the bracket (any 5).  [5]

a) _______ marketing covers the services involved in moving an agricultural
product. (Agriculture, Global, National)

b) ______ is an important marketing Function which involves holding and
Preserving Goods. (Grading, Storage, Transport)

c) ______ act is enacted to protect the interest of consumers.

(Consumer Protection, Patent, Competition)

d) _______ act governs commercial competition in India.

(Trademark, Competition, Bureau of Indian standard)

e) _______ creates awareness about encrypting data.

(Cyber security Marketing, Computer, Software)

f) ______ involves Promoting a business product in worldwide market.

(Global Marketing, National Marketing, Local Marketing)

P.T.O.
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Q2) Match the following groups. [5]

Group ‘A’ Group ‘B’

1) Agriculture Products a) Many nations

2) Consumer protection Act b) Protection to website

3) Global Market c) Seasonal Products

4) Cyber security d) Safeguarding the consumers

5) Function of marketing e) Standardisation

Q3) Write Short Notes on (Any Two). [10]

a) Features of agricultural products.

b) Importance of Marketing Regulations.

c) Elements of Global Marketing.

d) Need of Cyber Security Marketing.

Q4) a) What are the different types of agricultural products? [8]

b) Explain the importance of Consumer Protection Act 1986. [7]

Q5) a) Explain the Factors affecting global marketing. [8]

b) Explain the various tactics used by cyber security marketers. [7]


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Total No. of Questions : 5]

[5801]-613
T.Y. B.Com.

365 (h) : MARKETING MANAGEMENT - II
(CBCS 2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P2993

à.à.à.à.à.1) [aH$må¶m OmJr H§$gmVrb ¶mo½¶ n¶m©¶ dmnê$Z {dYmZo nyU© H$am. (H$moUVohr nmM) [5]

A) .......... {dnUZm‘Ü¶o H¥$fr dñVy Zo-AmU H$aUmè¶m godm§Mm g‘mdoe hmoVmo.

(H¥$fr, OmJ{VH$, amï´>r¶)

~) ........... ho AË¶§V ‘hËdmMo {dnUZ H$m¶© Amho, Á¶m‘Ü¶o dñVy YmaU H$ê$Z OVZ Ho$br OmVo.

(à‘mUrH$aU, gmR>dUyH$, dmhVyH$)

H$) ............. H$m¶X²¶mMr {Z{‘©Vr J«mhH$ {hVajUmgmR>r Pmbobr Amho.

(J«mhH$ g§ajU, noQ>§Q>, ñnYm©)

S>) ........... H$m¶Xm ^maVmVrb ì¶mdgm{¶H$ ñnYm© {Z¶§{ÌV H$aVmo.

(ì¶mnmar {MÝho H$m¶Xm, ñnYm©, ^maVr¶ ‘mZH$ H$m¶Xm)

B) ............. S>oQ>m EÝH«$snQ> H$aÊ¶m~m~V OmJ¥Vr {Z‘m©U H$aVo.

(gm¶~a gwajm {dnUZ, g§JUH$, gm°âQ>doAa)

\$) ............... ‘Ü¶o OmJ{VH$ ~mOmanoR>oV ì¶dñmm¶ CËnmXZmMm àgma H$aUo g‘m{dï> Amho.

(OmJ{VH$ {dnUZ, am{ï´>¶ {dnUZ, ñWm{ZH$ {dnUZ)
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à.à.à.à.à.2) OmoS>çm bmdm. [5]

JQ> A JQ> ~

i) H¥$fr dñVy A) AZoH$ amï´>

ii) J«mhH$ g§ajU H$m¶Xm ~) do~ gmB©Q> gwajm

iii) OmJ{VH$ ~mOmanoR> H$) h§Jm‘r dñVy

iv) gm¶~a gwajm S>) J«mhH$ gwa{jVVm

v) {dnUZmMo H$m¶} B) à‘mUrH$aU

à.à.à.à.à.3) Q>rnm {bhm. (H$moUË¶mhr XmoZ) [10]

A) H¥$fr dñVyMr d¡{eï²>¶o

~) {dnUZ {Z¶‘ZmMo ‘hËd

H$) OmJ{VH$ {dnUZmMo KQ>H$

S>) gm¶~a gwajm {dnUZmMr JaO

à.à.à.à.à.4) A) H¥$fr dñVyMo {d{dY àH$ma ñnï> H$am. [8]

~) J«mhH$ g§ajU H$m¶Xm 1986 Mo ‘hÎd ñnï> H$am. [7]

à.à.à.à.à.5) A) OmJ{VH$ {dnUZmda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am. [8]

~) gm¶~a gwajm {dnUH$mÛmao dmnaÊ¶mV ¶oUmao {d{dY S>mdnoM ñnîQ> H$am. [7]





Total No. of Questions : 4]

[5801]-614
T.Y. B.Com.

365 (i) : AGRICULTURAL AND INDUSTRIAL ECONOMICS - II
(CBCS 2019 Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) Q.No. 1 and Q.No. 6 are compulsory.
2) Solve any 3 questions from the remaining question No. 2,3,4 and 5.

P2994 [Total No. of Pages : 4

SEAT No. :

Q1) a) Fill in the blanks (attempt any 5 out of 6). [5]

 i) The conflict and disputes between employers and employees on
any industrial matters are known as

(political relations, human relations, social relations, industrial relations)

ii) Agricultural labours mostly faced the problem of ______

(seasonal employment, low agricultural productivity, less capital
formation)

iii) The Indian National manufacturing policy was launched in _______

(2014, 2015, 2011, 2019)

iv) The farmers producer organisations are mainly associated with ____

(group of agricultural labour, group of agricultural tenants, group
of farmers, group of Agro - traders)

v) The make in India intiative was launched by Prime Minister in ____

(2017, 2020, 2014, 2012)

vi) The main social characteristics of agriculture labour is ______

(low income level, low standard of living low capital formation, low
agricultural productivity)

P.T.O.



2[5801]-614

b) Match the following. [5]

A B

i) Maharastra industrial policy A) 2014

ii) Make in India B) 1947

iii) Problem of agricultural labour C) 2019

iv) Industrial disput act D) Less wages

v) Start-up India E) New Industrial unit

Q2) Write a short notes (any 2 out of 4): [10]

a) Diversification of agriculture labour.

b) Impact of Covid - 19 pandemic on agriculture sector of India.

c) Industrial relations.

d) Problems of Indian agriculture.

Q3) a) Explain the need of farmers producer organizations. [8]

b) Describe the causes of increasing agricultural labour in India. [7]

Q4) a) Write a detail note on National intellectual property rights policy 2016.[8]

b) Explain the meaning and scope of Industrial relations. [7]


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Total No. of Questions : 4]

[5801]-614
T.Y. B.Com.

365 (i) : AGRICULTURAL AND INDUSTRIAL ECONOMICS - II
(CBCS 2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm … 1) àíZ H«$. 1 Am{U àíZ H«$. 6 gmoS>{dUo Amdí¶H$ Amho.
2) àíZ H«$. 2, 3, 4 Am{U 5 ‘Yrb Cd©[aV H$moUVohr VrZ n«íZ gmoS>dm.

P2994

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) H$moUË¶mhr Am¡Úmo{JH$ ~m~ter g§~§{YV H$m‘Jma d ‘mbH$ ¶m§Vrb {ddmXnyU© g§~§Ymg
............ Ago åhUVmV.

(amOH$s¶ g§~§Y, ‘mZdr g§~§Y, gm‘m{OH$ g§~§Y, Am¡Úmo{JH$ g§~§Y)

ii) eoV‘Oya àm‘w»¶mZo ................ ¶m g‘ñ¶og g‘moao OmVmV.

(h§Jm‘r amoOJma, H$‘r H¥$fr CËnmXH$Vm, {ZåZ ^m§S>db {Z{‘©Vr)

iii) amï´>r¶ {d{Z‘m©U YmoaU .............. ¶mdfu Om{ha H$aÊ¶mV Ambr.

(2014, 2015, 2011, 2019)

iv) eoVH$ar CËnmXH$ g§KQ>Zm ................ er g§~§{YV AgVmV.

(eoV‘Oya g§K, eoVHy$i g‘yh, eoVH$ar g‘yh, eoV‘mb ì¶mnmar g‘yh)

v) n§VàYmZm§Ûmao ‘oH$ BZ B§{S>¶m ¶moOZm ................. ¶mdfu A‘bmV AmUbr Jobr.

(2017, 2020, 2014, 2012)

vi) eoV‘Owam§Mo ‘w»¶ gm‘m{OH$ d¡{eï>ç ................ ho Amho.

({ZåZ CËnÞ ñVa, {ZH¥$ï> amhUr‘mZmMm XOm©, {ZåZ ̂ m§S>db {Z{‘©Vr, {ZåZ H¥$fr CËnmXH$Vm)
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~) ¶mo½¶ OmoS>çm bmdm. [5]

A ~

i) ‘hmamï´> Am¡Úmo{JH$ YmoaU A) 2014

ii) ‘oH$ BZ B§{S>¶m ~) 1947

iii) eoV‘Oyam§Mr g‘ñ¶m H$) 2019

iv) Am¡Úmo{JH$ g§Kf© H$m¶Xm S>) H$‘r doVZ

v) ñQ>mQ>© An B§{S>¶m B) ZdrZ Am¡Úmo{JH$ KQ>H$

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) eoV‘Oyam§Mo {d{dYrH$aU

~) ^maVr¶ H¥$fr joÌmdarb H$moamoZm-19 ‘hm‘marMo n[aUm‘

H$) Am¡Úmo{JH$ g§~§Y

S>) ^maVr¶ H¥$frÀ¶m g‘ñ¶m

à.à.à.à.à.3) A) eoVH$ar CËnmXH$ g§KQ>Zm§Mr JaO g{dñVa {deX H$am. [8]

~) ^maVmVrb eoV‘Oyam§À¶m dmT>Ë¶m g§»¶oMr H$maUo ñnï> H$am. [7]

à.à.à.à.à.4) A) amï´>r¶ ~m¡{ÕH$ j‘Vm A{YH$ma YmoaU-2016 ¶mda g{dñVa {Q>n {bhm. [8]

~) Am¡Úmo{JH$ g§~§YmMm AW© d ì¶már ñnï> H$am. [7]





Total No. of Questions : 4]

[5801]-615
T.Y. B.Com.

365 (J) : DEFENSE BUDGETING, FINANCE & MANAGEMENT - II
(Special Paper - II)

(2019 Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P2995 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any five of the following. [5×2=10]

a) Define the private sector.

b) Define defence production.

c) Define defence management.

d) Define armed forces.

e) What is logistic management.

f) What is decision making.

Q2) Attempt any four of the following. [4×5=20]

a) Logistic planning.

b) Indian defence.

c) Logistic management.

d) Decision making process.

e) Ministry of defence.

P.T.O.
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Q3) Attempt any four of the following. [4×5=20]

a) State the role of private sector in defence production.

b) Explain principles of Defence management.

c) State the principles of non military organisation.

d) State the principles of military organisation.

e) Explain types of military organisation.

Q4) Attempt any two of the following. [2×10=20]

a) Explain in detail logistic management for Indian defence.

b) Explain in detail decision making in Indian armed forces.

c) Explain in detail problems of arms production in India.


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Total No. of Questions : 4]

[5801]-615
T.Y. B.Com.

365 (J) : DEFENSE BUDGETING, FINANCE & MANAGEMENT - II
(Special Paper - II)

(2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

P2995

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×2=10]

A) ImOJr joÌ ì¶m»¶m H$am.

~) g§ajU CËnmXZ ì¶m»¶m Úm.

H$) g§ajU ì¶dñWmnZ ì¶m»¶m H$am.

S>) goZmXbo ì¶m»¶m Úm.

B) bm°{OpñQ>H$ ‘°ZoO‘|Q> åhUOo H$m¶?

\$) {ZU©¶ à{H«$¶m åhUOo H$m¶?

à.à.à.à.à.2) {Q>nm {bhm (H$moUVohr Mma) [4×5=20]

A) nwadR>m {Z¶moOZ

~) ^maVr¶ g§ajU

H$) nwadR>m ì¶dñWmnZ

S>) {ZU©¶ à{H«$¶m

B) g§ajU ‘§Ìmb¶
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) g§ajU CËnmXZmVrb ImOJr joÌmMr ŷ{‘H$m ñnï> H$am.

~) g§ajU ì¶dñWmnZmMr ‘ybVÎd ñnîQ> H$am.

H$) {~Ja bîH$ar g§KQ>ZoMr ‘ybVÎd ñnîQ> H$am.

S>) bîH$ar g§KQ>ZoMr ‘wbVÎdo ñnï> H$am.

B) g§ajU g§KQ>ZoMo àH$ma ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) ^maVr¶ goZm XbmVrb nwadR>m ì¶dñWoMo ì¶dñWmnZ g{dñVa ñnï> H$am.

~) ^maVr¶ goZm XbmVrb {ZU©¶ à{H«$¶m g{dñVa ñnï> H$am.

H$) ^maVr¶ g§ajU CËnmXZmVrb g‘ñ¶m g{dñVa ñnï> H$am.





Total No. of Questions : 4]

[5801]-616
T.Y. B.Com.

365 (k) : INSURANCE, TRANSPORT AND TOURISM - II
(2019 Pattern) (Semester - VI)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P2996 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks. (Attempt any 5):  [5]

i) The process of grouping people within a market according to similar
needs, characteristics or behaviour is known as _______

a) Tourism marketing

b) Segmentation

c) Targeting

ii) Park and Ride scheme, Cycle ways, and Explorer Buses are
examples of ________

a) Innovative transport provision

b) Amenities

c) Attractions

iii) IATA stands for ____

a) International Aviation Travel Association

b) International Air Transportation Association

c) International Aviation and Tourism Association

iv) The primary purpose of TAAI is _______

a) To regulate the travel industry in India along organised lines

b) To regulate the travel industry in world

c) To control the travel industry in India along organised lines

P.T.O.
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v) Means of land transport are provided by ______

a) Bullode carts

b) Motor vehicles

c) Bullode carts and motor vehicles

vi) Velidator plate is issued to ______

a) Airlines

b) BSP

c) Travel Agents

B) Match the following. [5]
A B

i) UNWTO a) Mumbai

ii) TAAI b) New Delhi

iii) IATO c) Geneva

iv) ITDC d) Madrid

v) ICAO e) Montereal

f) New Delhi

Q2) Write short notes (any 2) [10]

a) Tourism Demand and Transport.

b) Tour Operator

c) Tourist Accommodation

d) Function of IATO

Q3) a) Describe types of transport. [8]

b) State the importance of Tour Operators. [7]

Q4) a) State the types of Accommodiation. [8]

b) State the functions of UNWTO. [7]


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Total No. of Questions : 4]

[5801]-616
T.Y. B.Com.

365 (k) : INSURANCE, TRANSPORT AND TOURISM - II
(2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P2996

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) g‘mZ JaOm, d¡{eï>¶o qH$dm dV©Z ¶m§À¶mZygma bmoH$m§À¶m JQ>mV Q>mH$Ê¶mMr à{H«$¶m .........
åhUyZ AmoiIbr OmVo.

A) n¶©Q>Z {dnUZ

~) {d^mOZ

H$) bú¶rH$aU

ii) nmH©$ Am{U amBS> ¶moOZm, gm¶H$b ‘mJ© Am{U àdmgr ~g hr ................. Mr CXmhaUo
AmhoV.

A) Zm{dÊ¶nyU© dmhVwH$sMr VaVyX

~) gw{dYm

H$) AmH$f©Uo

iii) Am¶.E.Q>r.E. (IATA) Mo {dñVmarV ê$n ............. Amho.

A) Am§Vaamï´>r¶ {d‘mZ àdmg g§KQ>Zm

~) Am§Vaamï´>r¶ hdmB© dmhVwH$ g§KQ>Zm

H$) Am§Vaamï´>r¶ {d‘mZMmbZ Am{U n¶©Q>Z g§KQ>Zm

iv) Q>r.E.E.Am¶. (TAAI) Mm àmW{‘H$ hoVy ............ Amho.

A) g§KQ>rV ‘mJm©Zo ^maVmVrb àdmgr CÚmoJmMo {Z¶‘Z H$aUo

~) OJmVrb àdmgr CÚmoJmMo {Z¶‘Z H$aUo

H$) g§KQ>rV ‘mJm©Zo ^maVmVrb àdmgr CÚmoJm§da {Z¶§ÌU R>odUo



4[5801]-616

v) O{‘Zrdarb dmhVwH$sMo gmYZ ............. Amho.
A) ~¡b JmS>¶m
~) ‘moQ>ma JmS>¶m
H$) ~¡bJmS>¶m Am{U ‘moQ>ma JmS>¶m

vi) ""ìh°{bS>oQ>a ßboQ>'' ¶m§Zm Omar Ho$br OmVo.
A) {d‘mZ godm
~) ~r. Eg. nr.
H$) àdmgr ‘Ü¶ñV

~) ¶mo½¶ OmoS>²çm Owidm : [5]

A ~
i) UNWTO A) ‘w§~B©
ii) TAAI ~) Zdr {X„r
iii) IATO H$) {OZodm
iv) ITDC S>) ‘S>[aS>
v) ICAO B) ‘moZoQ>oar¶b

’$) Zdr {X„r

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) n¶©Q>Z ‘mJUr Am{U dmhVwH$
~) Qy>a Am°naoQ>a
H$) n¶©Q>H$ {Zdmg
S>) IATO Mr H$m¶}

à.à.à.à.à.3) A) dmhVwH$sÀ¶m àH$mam§Mo dU©Z H$am. [8]

~) Qy>a Am°naoQ>gMo ‘hÎd gm§Jm. [7]

à.à.à.à.à.4) A) {ZdmgmMo àH$ma gm§Jm. [8]

~) UNWTO Mr H$m¶} gm§Jm. [7]


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[5801]-617
T.Y.B.Com.

COMPUTER PROGRAMMING AND APPLICATIONS
365(l): Computer Networking and E-Commerce - II

(2019 Pattern) (Semester VI) (Special Paper-II)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1)  Answer all the questions.
2) Figures to the right indicate full marks.

P6479 [Total No. of Pages : 2
SEAT No. :

Q1) A) Fill in the Blanks: [5]
a) Customers are going digital with their payments, increasing the need

for _________.

i) fraud ii) unsecurity

iii) security iv) prediction

b) To protect your computer from phishing, malware and other security
threats use genuine _________ software.

i) virus ii) malicious

iii) anti-virus iv) trojan

c) Using _______  process confidentially, information can be achieved.

i) Cryptography ii) Virus

iii) Security iv) Steganography

d) _______  helps to simplify the business processes and makes them
faster and efficient.

i) E-Commerce ii) Files

iii) Folders iv) Virus

e) If the systems use seperate protocols, ________ is used to link
two systems.

i) Repeater ii) Bridge

iii) Hub iv) Gateway device
P.T.O.
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B) Match the following: [5]
a) E-Currency                    A) E-Signature.

b) Switch                           B) Digital Cash

c) Network topology          C) Connecting to internet

d) Modem                          D) Bus

e) Digital Signature E) Connect systems on network

Q2) Short notes (Any 2 out of 4) [10]
a) Information Security.

b) Security issues in wireless.

c) E- Banking

d) Role of Digital marketing.

Q3) a) Explain various security threats and Vulnerabilities. [8]
b) What is E-Commerce? Explain application of E- Commerce in detail.[7]

Q4) a) Explain in detail e-marketing techniques? Explain 5P’s of marketing. [8]
b) Explain the role of E-Advertisement in new age of Information. [7]

hhhhh



Total No. of Questions : 4]

[5801]-618
T.Y. B.Com.

BUSINESS ADMINISTRATION
366 (a) : Production and Operations Management - III

(2019 Pattern) (Semester - VI) (Special Paper - III)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P2997 [Total No. of Pages : 4

SEAT No. :

Q1) A) Multiple choice questions (answer any 5).  [5]

i) ______ is the mediator in the distribution chain cycle.

a) Broker

b) Seller

c) Retailer

ii) Most important element for production process is ______

a) Finance

b) Machinery

c) Raw material

iii) An important component of production planning and control is
_____

a) Raw material

b) Stock planning

c) Handling of Goods

iv) ABC Analysis is used in ________

a) CPM

b) PERT

c) Inventory Control

v) JIT technique does not include _______

a) Flexibility

b) Quality of working life

c) Line stop authority

P.T.O.
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vi) Production planning includes _______
a) Order booking from market
b) Planning production budget
c) Operation lay out

vii) Production management is done with ______
a) Administrative techniques
b) Management techniques
c) Marketing techniques

B) Match the following (any 5) [5]
Group A Group B

i) Production planning a) Management technique
ii) J.I.T. b) Just in time
iii) International Standards Organization c) Raw material
iv) First step in Distribution Chain d) Economic Order Quantity
v) E.O.Q. e) Determining the start and
vi) An important factor in manufacturing end time of various

production process
vii) Work schedule f) Production

g) 23rd February 1947

Q2) Write short notes. (Any 2) [10]
a) Production control.
b) Factors responsible for plant location.
c) Just - in - time manufacturing.
d) Difference between supply chain management and logistics management.

Q3) a) What is the meaning of production planning? Explain various objectives
of production planning. [8]

b) Explain the types of layout of plant. [7]

Q4) a) Define Quality Management. Explain the features of quality management.[8]
b) Explain the concept of supply chain management & state its steps/stages.

[7]


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Total No. of Questions : 4]

[5801]-618
T.Y. B.Com.

BUSINESS ADMINISTRATION
366 (a) : Production and Operations Management - III

(2019 Pattern) (Semester - VI) (Special Paper - III)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P2997

à.à.à.à.à.1) A) ~hÿn¶m©¶r àíZ. (H$moUVohr nmM) [5]

i) {dVaU gmIirVrb ‘Ü¶ñV åhUOo ...............
A) Xbmb
~) {dH«o$Vo
H$) {H$aH$moi ì¶mnmar

ii) CËnmXZ {Z{‘©VrgmR>r bmJUmam gdm©V ‘hËdm§Mm KQ>H$ ........... Amho.
A) {dÎm
~) ¶§Ìgm‘J«r
H$) H$ƒm‘mb

iii) CËnmXZ {Z¶moOZ d {Z¶§ÌUmMm ‘hÎdmMm KQ>H$ .............
A) H$ƒm ‘mb
~) gmR>m {Z¶moOZ
H$) ‘mb hmVmiUr

iv) ABC {díbofU ................ gmR>r dmnabo OmVo.
A) gr.nr.E‘.
~) nr. B©. Ama. Q>r.
H$) gmR>m {Z¶§ÌU

v) JIT V§Ìm‘Ü¶o ................ Mm g‘mdoe hmoV Zmhr.
A) bd{MH$Vm
~) H$m‘H$mOmÀ¶m {OdZmMr JwUdÎmm
H$) bmB©Z ñQ>m°n AWmoaQ>r
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vi) CËnmXZ {Z¶moOZmV ........... ¶mMm g‘mdoe hmoVmo.
A) ~mOmamVyZ CËnmXZmgmR>r ‘mJUr ¶oUo
~) CËnmXZ {Z¶moOZ A§XmOnÌH$ V¶ma H$aUo
H$) CËnmXZ H$m¶m©Mm AmamIS>m V¶ma H$aUo

vii) CËnmXZ ì¶dñWmnZ ho ............... V§ÌmÀ¶m AmYmao Ho$bo OmVo.
A) àemgZ {df¶H$
~) ì¶dñWmnZ {df¶H$
H$) {dnUZ {df¶H$

~) OmoSçm bmdm. (H$moUË¶mhr nmM) [5]
JQ> "A' JQ> "~'

i) CËnmXZ {Z¶moOZ A) ì¶dñWmnZmMo V§Ì
ii) Oo. Am¶. Q>r. (J.I.T.) ~) OñQ> BZ Q>mB©‘
iii) OmJ{VH$ ‘mZH$ g§KQ>Zm H$) H$ƒm ‘mb
iv) {dVaU gmIirVrb nhrbm Q>ßnm S>) BH$moZm°‘rH$ Am°S>©a H$m°pÝQ>Q>r
v) B. Amo. ³¶w. (E.O.Q.) B) CËnmXZmÀ¶m {d{dY à{H«$¶m gwê$

H$aÊ¶mMr Am{U g§n{dÊ¶mMr doi
{ZpíMV H$aUo

iv) CËnmXZ {Z{‘©VrgmR>r bmJUmam gdm©V ’$) CËnmXZ
‘hËdmMm KQ>H$

v) H$m¶© doimnÌH$ B) 23 ’o$~«wdmar 1947

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) CËnmXZ {Z¶§ÌU
~) ¶§ÌHw$b ñWmZ {ZpíMVr~m~V ‘hÎdmMo KQ>H$
H$) doioZwgma CËnmXZ nÕV
S>) {dVaU gmIir ì¶dñWmnZ Am{U bm°{OñQ>rH$ ì¶dñWmnZ ¶mVrb ’$aH$ gm§Jm

à.à.à.à.à.3) A) CËnmXZ {Z¶moOZ åhUOo H$m¶? CËnmXZ {Z¶moOZmMr {d{dY C{Ôï>ço ñnï> H$am? [8]
~) ¶§ÌHw$bmMo àH$ma ñnï> H$am? [7]

à.à.à.à.à.4) A) JwUdÎmm ì¶dñWmnZmMr ì¶m»¶m gm§JyZ, JwUdÎmm ì¶dñWmnZmMr d¡{eï>o ñnï> H$am? [8]
~) {dVaU gmIirMr g§H$ënZm gm§JyZ, {dVaU gmIirÀ¶m nm¶è¶m/Q>ßno ñnï> H$am? [7]


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BANKING AND FINANCE - III
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Instructions to the candidates:

1) All questions are compulsory.
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P2998 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (any 5):  [5]
i) _______ is the full form of ATM.

a) Any time money
b) Automated teller machine
c) Automatic teller machine

ii) ______ is not type of cyber crime in banking.
a) Virus attach
b) Hacking
c) Violent crime

iii) Expand NEFT _______
a) National Electronic Fund Transfer
b) Neutral Electronic Fund Transfer
c) Natural Electronic Fund Transfer

iv) Who can file a criminal case against the drawer of dishonoured
cheque _______
a) The payee
b) The holder in due course
c) a & b both

v) The relationship between a banker and customer is ______
a) That of debtor and debtor
b) That of creditor and debtor
c) Primarily that of a debtor and creditor

vi) A banker’s lien is ________
a) General lien

b) Particular lien

c) Negative lien

P.T.O.
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B) Match the following. [5]

A B

i) Cyber crime a) Bank of India

ii) Commercial bank b) Credit creation

iii) Money creation c) Real Time Gross Settlement

iv) RTGS d) Profit oriented

v) Public Sector Bank e) Spamming

Q2) Write short notes (any 2 out of 4) : [10]

a) Hacking

b) IPC-420 (Indian Penal Court - 420)

c) Collecting Banker.

d) Garnishee Order.

Q3) a) Explain the types of cyber crime. [8]

b) Write the Duties and Rights of paying banks. [7]

Q4) a) Explain the Relationship between Banker and customer with reference of
debetor and creditor. [8]

b) Explain the types of loan schemes in Bank. [7]


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[5801]-619
T.Y. B.Com.

BANKING AND FINANCE - III
366 (b) : Banking Law and Practices in India

(CBCS 2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

P2998

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ............ ho ATM Mo nwU© ê$n Amho.

A) H$Yrhr n¡go

~) ñd¶§M{bV Q>oba ‘erZ

H$) ñd¶§M{bV Q>obr ‘erZ

ii) .............. hm ~±Ho$Vrb gm¶~a JwÝhm Zmhr.

A) ìhm¶ag h„m

~) h°qH$J

H$) {h§gH$ JwÝhm

iii) NEFT Mo nwU© ê$n {bhm.

A) Z°eZb Bbo³Q´>m°{ZH$ ’§$S> Q´>m§g’$a

~) Z°Mab Bbo³Q´>m°{ZH$ ’§$S> Q´>m§g’$a

H$) Ý¶wQ>ab Bbo³Q´>m{ZH$ ’§$S> Q´>m§g’$a

iv) ................. hm YZmXoemMm AZmXa H$aUmè¶mda ’$m¡OXmar IQ>bm XmIb H$ê$ eH$Vmo.

A) n¡go XoUmam

~) n¡go KoUmam

H$) A Am{U ~ XmoÝhr
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v) ............. hm ~°H$a Am{U J«mhH$ ¶m§À¶m‘Ü¶o g§~§Y AgVmo.
A) YZH$mo Am{U YZH$mo
~) F$UH$mo Am{U YZH$mo
H$) ‘wIV: YZH$mo Am{U F$UH$mo

vi) ~°H$g©Mm YmaU{YH$ma ........... Amho.
A) gm‘mÝ¶ YmaU{YH$ma
~) {d{eï> YmaU{YH$ma
H$) ZH$mamË‘H$ YmaU{YH$ma

~) ¶mo½¶ OmoS>²¶m Owidm : [5]

A ~

i) gm¶~a JwÝhm A) ~±H$ Am°’$ B§{S>¶m

ii) ì¶mnmar ~±H$m ~) nVn¡gm

iii) n¡gm {Z{‘©Vr H$) ar¶b Q>mB©‘ J«m°g goQ>b‘|Q>

iv) Ama.Q>r.Or.Eg. S>) Z’$m {‘i{dUo

v) gmd©O{ZH$ ~±H$ B) ñn°q‘J

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) h°qH$J
~) IPC-420 (^maVr¶ X§S> Ý¶m¶mb¶ -420)
H$) dgw{b ~±H$
S>) Jm{Z©e Am°S>©a

à.à.à.à.à.3) A) gm¶~a JwÝømMo àH$ma ñnï> H$am. [8]

~) àXm{¶ ~±Ho$Mr H$V©ì¶o Am{U A{YH$ma {bhm. [7]

à.à.à.à.à.4) A) ~±H$a Am{U J«mhH$ ¶m§À¶mVrb g§~§Y F$UH$mo Am{U YZH$mo ¶m Ñï>rZo ñnï> H$am. [8]

~) ~±Ho$Vrb H$O© ¶moOZm§Mo àH$ma ñnï> H$am. [7]


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SEAT No. :

Q1) A) Fill in the blank with the most appropriate alternative (Any 5). [5]

 a) After declaration of dividend it should be paid within ______ .

(14 days, 21 days, 30 days)

b) After the expiry of _____, the amount of unpaid dividend account
should be transferred to Investor Education & Protection Fund.

(7 Years, 3 Years, 5 Years)

c) The books of accounts of every company shall be maintained in
order for _______.

(3 years, 5 years, 8 years).

d) After registration of a company 1st auditor shall be appointed within
_______ .

(30 days, 60 days, 90 days).

e) Minimum number of directors in the case of a public company is
_____ directors.

(2, 3, 5).

f) Every director shall be appointed by the company in ______ u/s
152 (2).

(General meeting, Board of directors meeting, Creditors Meeting).

P.T.O.
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B) Match the following. [5]

Column A Column B

i) Dividend declared but not paid a) Comptroller & Auditor
General of India

ii) Internal Auditor b) Final Dividend

iii) Auditor of Government Comapny c) One Director

iv) Dividend declared at the Anuual d) Unpaid Dividend

General Meeting

v) One Person Company e) Chartered/Cost Accountants

Q2) Write a short note (Any 2): [10]

a) Types of Dividend

b) Right of Members regarding Financial Statements.

c) Qualification of Auditor

d) Independent Director.

Q3) a) Define Dividend. Explain the provisions related to declaration & payment
of dividend. [8]

b) Explain the provisions regarding types of accounts to be maintained by
company. [7]

Q4) a) Explain the powers and duties of Auditor. [8]

b) Define Director. Explain the provisions related to appointment of
Director. [7]


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[5801]-620
T.Y. B.Com.

366 (c) : BUSINESS LAWS & PRACTICES - III
(CBCS 2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb {Xbobr g§»¶m nyU© JwU Xe©{dVmV.

P2999

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) bm^m§e Kmo{fV Ho$ë¶mZ§Va ........ {XdgmV bm^m§e {Xbm nm{hOo.

(14 {Xdg, 21 {Xdg, 30 {Xdg)

ii) .......... dfmªMr ‘wXV g§në¶mZ§Va, Z ^aboë¶m bm^m§e ImË¶mMr a¸$‘ Jw§VdUyH$Xma
{ejU Am{U g§ajU {ZYr‘Ü¶o hñVm§V[aV Ho$br OmVo.

(7 df©o, 3 df}, 5 df})

iii) àË¶oH$ H§$nZrÀ¶m {heo~mMr nwñVHo$ ................ dfmªgmR>r ì¶dpñWV R>odbr OmVmV.

(3 df©o, 5 df}, 8 df})

iv) H§$nZrMr Zm|XUr Pmë¶mZ§Va ......... {Xdgm§À¶m AmV n{hë¶m boImnarjH$mMr {Z¶wº$s
Ho$br nm{hOo.

(30 {Xdg, 60 {Xdg, 90 {Xdg)

v) gmd©O{ZH$ H§$nZrÀ¶m ~m~VrV {H$‘mZ g§MmbH$m§Mr g§»¶m ......... AgVo.

(2, 3, 5)

vi) àË¶oH$ g§MmbH$mMr {Z¶wº$s H$b‘ 152 (2) A§VJ©V H§$nZr‘m’©$V .......... ‘Ü¶o Ho$br
nm{hOo.

(gd©gmYmaU g^m, g§MmbH$ ‘§S>imMr g^m, F$UH$moMr g^m)
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~) ¶mo½¶ OmoS>²¶m Owidm : [5]

aH$mZm A aH$mZm ~

i) Kmo{fV Ho$bobm na§Vw dgyb Z Pmbobm bm^m§e A) ^maVmMo {Z¶§ÌH$ Am{U
‘hmboImnarjH$

ii) A§VJ©V A§Ho$jU ~) A§{V‘ ëmm^m§e

iii) gaH$mar H§$nZrMo A§Ho$jH$ H$) EH$ g§MmbH$

iv) dm{f©H$ gd©gmYmaU g ôV Kmo{fV S>) AXm Z Ho$bobm bm^m§e

Ho$bobm bm^m§e

v) EH$ ì¶º$s H§$nZr B) MmQ>©S>© AH$mD$ÝQ>Q>/H$m°ñQ>
AH$mD$ÝQ>Q>

à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) bm^m§emMo àH$ma

~) {dÎmr¶ {ddaUnÌmer {ZJS>rV g^mgXm§Mo h¸$

H$) boImnarjH$mMr nmÌVm

S) ñdV§Ì g§MmbH$

à.à.à.à.à.3) A) bm^m§e ì¶m»¶m Úm. ëmm^m§e Kmo{fV Am{U ^aÊ¶mer g§~§{YV VaVwXr ñnï> H$am. [8]

~) H§$nZrÛmao R>odë¶m OmUmè¶m ImË¶m§À¶m àH$mam§~m~VÀ¶m VaVwXr ñnï> H$am. [7]

à.à.à.à.à.4) A) boImnarjH$mMo A{YH$ma Am{U H$V©ì¶o ñnï> H$am. [8]

~) g§MmbH$ ì¶m»¶m Úm. g§MmbH$mMr Zo‘UyH$ H$aÊ¶m~m~VÀ¶m VaVwXr ñnï> H$am. [7]


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P3000 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Any five) [5]

i) Financial management is the basic function of __________
manager.

a) Purchase b) Sales c) Finance

ii) Funds are utilised in Co-operaties as per_______ planning.

a) Sales b) Product c) Financial

iii) _______ is the forecast of financial planning.

a) Budget b) Cash Book c) Balance sheet

iv) An auditor is the representative of________

a) Members b) Directors c) Promoter

v) Audit report is given by_______

a) Management b) Auditor c) Members

vi) Audit is______ to co-operative society.

a) Mandatory b) Voluntary c) Not compulsory

B) Match the following [5]

A B

i) Financial management a) Financial control

ii) Financial planning b) Planning of Finance

iii) Utilisation of funds c) Mgt. of co-operative finance

iv) Examination by Auditor d) Report by Auditor

v) Audit report e) Co-operative Audit

P.T.O.
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Q2) Write short notes any (two) [10]

a) Importance of financial management.

b) Need for financial control.

c) Nature of Co-operative Audit.

d) Powers of Co-operative Auditor.

Q3) a) State the sources of Co-operative finance [8]

b) State the Budget and Accouting of Co-operatives. [7]

Q4) a) Sate the Utilisation of funds in Co-operatives. [8]

b) State the significance of Co-operative Audit. [7]


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[5801]-621
T.Y.B. Com.

366 (d) : CO-OPERATION AND RURAL DEVELOPMENT - III
(CBCS 2019 Pattern) (Semester -VI) (Special Paper - III)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P3000

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) {d{Îm¶ ì¶dñWmnZ ho ......... ì¶dñWmnH$mMo ‘Ü¶ H$m¶© Amho.
A) IaoXr ~) {dH«$s H$) {d{Îm¶

ii) ghH$mamV ZrYr Mm dmna ............ {Z¶moOZmZwgma hmoVmo.
A) {dH«$s ~) CËnmXZ H$) {d{Îm¶

iii) ........... ho {d{Îm¶ {Z¶moOZ{M nydm©Zw‘mZ Amho.
A) A§XmOnÌH$ ~) amoY nyñVH$ H$) V{i~§X

iv) A§Ho$jH$ hm ............ Mm à{V{ZYr AgVmo.
A) gXñ¶ (g^mgX) ~) g§MmbH$ H$) àdV©H$

v) A§Ho$jU Ahdmb .......H$Sw>Z {Xbm OmVmo.
A) ì¶dñWmnZ ~) A§Ho$jH$ H$) g^mgX

vi) ghH$mar gmogm¶Q>¶m§Zm A§Ho$jU ........... AgVo.
A) ê$H$VrMo ~) EoÀN>rH$ H$) g³VrMo ZgVo

~) Imbrb OmoS>çm Oyidm [5]

A ~

i) {d{Îm¶ ì¶dñWmnZ A) {d{Îm¶ {Z¶§ÌU

ii) {d{Îm¶ {Z¶moOZ ~) {dÎmmMo ¶mo½¶ {Z¶moOZ

iii) {ZYrMm dmna H$) ghH$mar ZrYrMm dmna ì¶dñWmnZ

iv) A§Ho$jH$mX²dmao narjm S>) A§Ho$jH$mZo {Xbobm Ahdmb

v) A§Ho$jU Ahdmb B) ghH$mar A§Ho$jU
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à.à.à.à.à.2) {Q>nm {bhm (H$moUË¶mhr XmoZ) [10]
A) {d{Îm¶ ì¶dñWmnZmMo ‘hËd

~) {d{Îm¶ {Z¶§ÌUmMr JaO

H$) ghH$mar A§Ho$jUmMo ñdê$n

S>) ghH$mar A§Ho$jH$mMo A{YH$ma

à.à.à.à.à.3) A) ghH$mamVrb {d{Îm¶ ómoV (‘mJ©) gm§Jm. [8]

~) ghH$mamVrb A§XmOnÌH$ Am{U boIm§H$Z gm§Jm. [7]

à.à.à.à.à.4) A) ghH$mam‘Ü¶o ZrYrMm ¶mo½¶ dmna H$gm hmoVmo Vo gm§Jm. [8]

~) ghH$mar A§Ho$jUmMo ‘hËd gm§Jm. [7]


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P3001 [Total No. of Pages : 2

SEAT No. :

Q1) a) Fill in the blanks (Attempt any 5) [5]
i) Standard costing is necessary for ________industry to quote a

price and choose a profitable job.
a) Process b) Job c) Contract

ii) Pricing decisions are made on the fundamental principle
of________costing.
a) Standard b) Uniform c) Marginal

iii) CAS-6 stands for________.
a) Material cost
b) Employee cost
c) Overheads

iv) The basic purpose of cost Audit is to establish the accuracy of
________Accounts.
a) Financial b) Cost c) Management

v) Efficiency Audit & proprietary Audit are parts of _______Audit.
a) Cost b) Financial c) Management

vi) Labour Rate variance [LRV]=____________.
a) (SQ×SP) - (AQ×AP)
b) (SR-AR) × AH
c) (SQ-AQ) × SP

b) Match the following. [5]
Group A Group B

1) Financial Audit a) Detail investigation of cost
Records

2) Target costing b) Maximum efficiency
3) Agricultural sector c) Origin in Japan
4) Cost Investigation d) Compulsory

under Company Act
5) Ideal standards e) Primary sector of

livelihood in India
P.T.O.
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Q2) Write short notes on the following (any 2). [10]
a) Limitations of standard costing.
b) Objectives of target costing.
c) CAS-7.
d) Cost Auditor.

Q3) a) From the following cost data made available by Plasto Limited, compute
the following material. [8]
Variances:
i) Material cost variance.
ii) Material price variance.
iii) Material Usage variance.
iv) Also verify your results.

Material Standard quantity Standard Price Actual Quantity Actual Price
(Units) (Rs.) (Units) (Rs.)

A 40 10 20 35
B 20 20 30 20

60 50
b) From the following details, calculate: [7]

i) Labour cost variance.
ii) Labour rate variance.
iii) Labour efficiency variance.
iv) Also verify your results.

Workers Standard Standard Actual Actual
Hours Rate (Rs.) Hours Rate (Rs.)

1) Skilled 30 5.00 32 5.00
2) Unskilled 40 4.00 32 4.25

70 64

Q4) a) Aspro Limited, produces and sells 500 units per year at a  market price
of Rs. 20 per unit with a variable cost of Rs. 12 per unit and fixed over
heads of Rs. 1000 p.a. The company management has proposed to
reduce its selling price by 20 % under normal conditions
You are required to calculate the additional sales reguired to earn the
same profit made earlier. [8]

b) Write the difference between cost Audit and Financial Audit. [7]


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Q1) a) Attempt Fill in the blanks any five of the following. [5]

i) We can maximize profit function by using computation of _______
function.

ii) If C(x)=13x4+12x3+2 is the manufacturer’s total cost equation then
variable cost is ____________.

iii) CPM is _________model.

iv) FCFS is called________discipline.

v) If the total float is zero then corresponding activity is called
as________activity.

vi) Node is collections of two or more than two_________.

b) State whether each of the statement given below is true or false: [5]

i) Random numbers are not used in simulation theory.

ii) CPM is deterministic model.

iii) In queuing theory, no. of arrivals follows Poisson distribution.

iv) If C(x) = x4 + 92x2 – x + 120 is the manufacturer’s total cost equation
then 120 is called variable cost.

v) For Project, we can get more than one critical path.

P.T.O.



2[5801]-623

Q2) Attempt any two of the following. [10]

a) Explain the following terms:

i) Project network

ii) Revenue function.

iii) Simulation

iv) Service rate

v) Calling population

b) If C(x)=3x4+12x2–3x+10 is the manufacturer’s total cost equation, find
the:

i) average cost

ii) Fixed cost

iii) variable cost

iv) marginal cost

c) State the condition that cost function can be determined as maxima and
minima function.

d) Explain the following terms:

i) Pessimistic time in PERT.

ii) Event

iii) Service channel

iv) Market Equilibrium,

v) Activity

Q3) a) The following table gives the activities in a project and other relevant
information: [8]

Activity 1-2 1-4 1-3 2-5 3-5 3-6 4-6 5-7 6-7

Duration 3 4 5 2 3 7 9 8 9

Find earliest start, earliest finish, latest start, latest finish, total float, free
float and independent float for each activity. Also find critical path.
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b) A road transport company has one reservation clerk on duty at a time.
He handles information of bus schedules and makes reservations.
Customers arrive at a rate of 8 per hour and the clerk can service 12
customers on an average per hour. Under assumption of queuing theory,
find. [7]

i) Average number of customers waiting for the service.

ii) Average number of customers in a queue

iii) Average waiting time of customer for the service.

iv) Probability that the reservation clerk is idle.

v) Probability that a customer has to wait before he gets service.

Q4) a) A project has the following activities and other characteristics. [8]

Time Estimates

Activity t
o

t
p

t
m

1-2 6 24 6

1-3 6 18 12

1-4 12 30 12

2-5 6 6 6

3-5 12 48 30

4-6 12 42 30

5-6 18 54 30

i) Draw the project network and calculate the length and variance of
the critical path.

ii) What is the probability that project will be completed within 80 days?

b) Following is the probability distribution of daily demand of cakes. [7]

Demand of cake 0 10 20 30 40 50

Probability 0.01 0.20 0.15 0.50 0.12 0.02

Random numbers given below estimate demand of cake using Monte-
Carlo simulation method for next 10 days : 25,39,65,76,12,05,73,89,19,49.
Also find average daily demand of cake.


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Q1) A. Fill in the blanks (Attempt any 5 out of 6) : [5]
i) _________ building is the process of getting a group of people to

work together through a variety of initiatives and programs that drive
motivation and collaboration.
a) Team
b) Process
c) System

ii) A _________ is a group of people with complementary skills who
share the same goals, objectives and vision.
a) Team
b) Process
c) Management

iii) _________ management in entrepreneurship is the practice of being
able to identify and handle conflict sensibly, fairly, and efficiently.
a) Conflict
b) Stress
c) Harmony

iv) __________ conflict is conflict within a team of group, where
members conflict over goals or procedures.
a) Intrapersonal
b) Intragroup
c) Group

SEAT No. :

P.T.O.
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v) Entrepreneurs __________ is the process of transforming an
ordinary individual to a powerful businessman.
a) Motivation
b) Deterrent
c) Discouragement

vi) _________ marketing is also called online marketing.
a) Digital
b) Offline
c) Physical

B. Match the following : [5]

1. Team building a) Conflict within a group
2. Conflict b) Hierarchy of needs
3. Intragroup conflict c) Problem solving
4. Maslow’s Theory d) Social media marketing
5. Digital Marketing e) Intergroup

Q2) Short Notes (Any 2 out of 4) : [10]
a) Virtual Training.
b) Characteristics of stress.
c) Job Analysis.
d) Importance of Digital Marketing.

Q3) a) Explain the important skills required for team building in entrepreneurship.
[8]

b) Define stress. What are the important causes of stress in entrepreneurship.
[7]

Q4) a) What is motivation? Explain the types of motivation for entrepreneurs in
detail. [8]

b) Explain the role of Covid-19 in Digital Marketing for enhancing
entrepreneurship. [7]


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àíZ 1) A)A)A)A)A) [aH$må¶m OmJm ^am (ghmn¡H$s H$m oUVohr nmM gmoS>dm)[aH$må¶m OmJm ^am (ghmn¡H$s H$m oUVohr nmM gmoS>dm)[aH$må¶m OmJm ^am (ghmn¡H$s H$m oUVohr nmM gmoS>dm)[aH$må¶m OmJm ^am (ghmn¡H$s H$m oUVohr nmM gmoS>dm)[aH$må¶m OmJm ^am (ghmn¡H$s H$m oUVohr nmM gmoS>dm) [5]
i) ................. ~m§YUr hr àoaUm Am{U gh¶moJ MmbdUmè¶m {d{dY CnH«$‘ Am{U

H$m¶©H«$‘m§X²dmao bmoH$m§À¶m JQ>mbm EH$Ì H$m‘ H$aÊ¶mgmR>r AmUÊ¶mMr à{H«$¶m Amho.
A) g§K
~) à{H«$¶m
H$) àUmbr

ii) .............. hm nyaH$ H$m¡eë¶ Agboë¶m bmoH$m§Mm g‘yh AgVmo Omo H$s g‘mZ hoVy,
Ü¶o¶ Am{U Ñ{ï>H$moZ ¶m§À¶mer g§~§{YV AgVmo.
A) g§K
~) à{H«$¶m
H$) ì¶dñWmnZ

iii) CX²çmoOH$VoVrb .............. ì¶dñWmnZ åhUOo g§Kf© AmoiIUo Am{U hmVmiUo ho
g‘OyVXmanUo, {ZînjnUo Am{U H$m¶©j‘VoZo hmVmiUo.
A) g§Kf©
~) VmU
H$) gwg§dmX

iv) ............. g§Kf© hm JQ> qH$dm g§KmVrb g§Kf© AgVmo, OoWo gXñ¶ Ü¶o¶ qH$dm
H$m¶©nÕVrdê$Z g§Kf© H$aVmV.
A) Am§Vad¡¶p³VH$
~) Am§Va-g‘yh
H$) JQ>

P.T.O.
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v) CXçmoOH$ ............ hr gm‘mÝ¶ ì¶³Vrbm ep³Vembr ì¶mdgm{¶H$mV ~XbÊ¶mMr
à{H«$¶m Amho.
A) àoaUm
~) à{V~§YH$

H$) {Zê$Ëgmh
vi) ................ {dnUZmbm Am°ZbmB©Z {dnUZ Agohr åhUVmV.

A) {S>{OQ>b

~) Am°’$bmB©Z
H$) ^m¡{VH$

~) OmoS>çm bmdm : [5]
1) Q>r‘ {~ëS>tJ A) JQ> g§Kf©
2) g§Kf© ~) JaOm§Mr nXmZwH«$‘

3) Am§Va-g‘yh g§Kf© H$) g‘ñ¶m gmoS>{dUo
4) ‘mñbmo {gÕm§V S>) gmoeb {‘S>r¶m ‘mH}$qQ>J
5) {S>{OQ>b ‘mH}$qQ>J B) Am§VaJQ>

àíZ 2) WmoS>³¶mV {Q>nm {bhm. (Mma n¡H$s H$moUË¶mhr XmoZ) [10]
A) Am^mgr à{ejU.
~) VUmdmMr d¡{eîR>ço.

H$) H$m¶© {díbofU.
S>) {S>{OQ>b {dnUZmMo ‘hÎd

àíZ 3) A) CXçmoOH$Vo‘Ü¶o g§K~m§YUrgmR>r Amdí¶H$ H$m¡eë¶m§Mo ‘hÎmd ñnï> H$am. [8]
~) VUmdmMr ì¶m»¶m {bhm. CXçmoOH$VoVrb VUmdmMr ‘hÎdmMr H$maUo H$moUVr AmhoV. [7]

àíZ 4) A) A{^àoaUm åhUOo H$m¶? CXçmoOH$m§À¶m A{^àoaUoMo àH$ma Vnerbdma gm§Jm. [8]
~) CXçmoOH$Vm dmT>{dÊ¶mgmR>r {S>{OQ>b ‘mH}$qQ>J‘Ü¶o H$mo{dS>-19 Mr ŷ{‘H$m ñnï> H$am. [7]


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Q1) A) Fill in the blanks (Any 5): [5]

i) Efforts, planning, aims and evaluation of human resource is called
as marketing _________.

a) Control b) Auditing

c) Environment d) Management

ii) In service marketing after sales service, quality service, business
service and research development etc, are part of __________.

a) Product oriented components

b) Person oriented components

c) Quality oriented components

d) Industry group components

iii) ________ is a soul of advertisement.

a) Media b) Design

c) Message d) Printing Art

iv) Marketing __________ is a directive process which directs all
activities in marketing.

a) Auditing b) Environment

c) Management d) Control

v) ________ are depent on use of internet and modern technology.

a) Press media b) Magazines

c) Social media d) Website

vi) Some of social media, which give platform to earn more money
independently are called as ___________.

a) Self media b) Income media

c) Print media d) Exchange media

P.T.O.
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B) Match the following: [5]

i) Beauty Parlor & Jim services a) Social media

ii) Centre of Attraction & Balance b) Techniques of marketing
control

iii) Twitter, Instagram c) Person oriented components

iv) Ratio & market costing analysis d) Principles of Design

v) Role of beasts and animals e) Historical social media

Q2) Write short note (any 2) : [10]

a) Person oriented components in service marketing.

b) Characteristics of message.

c) Social media marketing - A Profession.

d) Process of marketing control.

Q3) a) Explain the 7 Ps concept of service marketing. [8]

b) Which elements are used for setting of advertisement? Explain in detail.[7]

Q4) a) Explain the importance of social media in detail. [8]

b) Explain the process of marketing audit. [7]


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2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
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P3003

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ‘mH}$Q>tJgmR>r Ho$bo OmUmao à¶ËZ, ¶moOZm, Ü¶o¶o Am{U ‘Zwî¶~i ¶m§Mo n[ajU åhUOo
{dnUZ ........... hmo¶.

A) {Z¶§ÌU ~) A§Ho$jU
H$) n¶m©daU S>) ì¶dñWmnZ

ii) godm {dnUZmV {dH«$¶moÎma godm, JwUdÎmm godm, ì¶mnmar godm Am{U g§emoYZ d {dH$mg
BË¶mXtMm g‘mdoe ........... ¶m KQ>H$m§‘Ü¶o Ho$bm OmVmo.

A) dñVy {df¶H$ KQ>H$ ~) ì¶{º$ {df¶H$ KQ>H$
H$) JwUdÎmm {df¶H$ KQ>H$ S>) CÚmoJ g‘yh KQ>H$

iii) Om{hamVrMm AmË‘m åhUOo ............. hmo¶.

A) ‘mÜ¶‘o ~) AmH¥$Vr
H$) g§Xoe S>) ‘wÐUH$bm

iv) {dnUZ ........... {h {dnUZm‘Ü¶o MmbUmè¶m gd© Jmoï>tZm {Xem XoUmar à{H«$¶m Amho.

A) A§Ho$jU ~) n¶m©daU
H$) ì¶dñWmnZ S>) {Z¶§ÌU

v) ........... {h B§Q>aZoQ> d AmYw{ZH$ V§ÌkmZmÀ¶m dmnamda Adb§~yZ AgVmV.

A) N>mnrb ‘mÜ¶‘o ~) {Z¶VH$m{bHo$
H$) gm‘m{OH$ ‘mÜ¶‘o S>) do~gmB©Q>

vi) gm‘m{OH$ ‘mÜ¶‘m§n¡H$s H$mhr ‘mÜ¶‘o ì¶mdgm{¶H$ g§ñWm§Zm qH$dm ì¶º$s¨Zm OmñVrV OmñV
n¡go {‘i{dÊ¶mMo ñdV§Ì ì¶mgnrR> CnbãY H$ê$Z XoVmV. Ë¶m§Zm ............ Ago åhUVmV.

A) ñd-{Z{‘©V ‘mÜ¶‘o ~) {‘iH$V ‘mÜ¶‘o
H$) N>mnrb ‘mÜ¶‘o S>) XodmZ-KodmZ ‘mÜ¶‘o
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~) OmoS>çm Owidm. [5]

i) ã¶yQ>r nmb©a d Or‘ godm A) gm‘m{OH$ ‘mÜ¶‘o

ii) ‘Ü¶dVu AmH$f©Z, pñWaVm ~) {dnUZ {Z¶§ÌU V§Ìo

iii) {Q‰>Q>a, BÝñQ>mJ«m‘ H$) ì¶{º${Zð> KQ>H$

iv) JwUmoÎma d ~mOma‘wë¶ {díbofU S>) AmH¥$Vr{df¶H$ KQ>H$

v) newnjr d àmÊ¶m§Mr ŷ{‘H$m B) E¡{VhmgrH$ gm‘m{OH$ ‘mÜ¶‘o

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) godm {dnUZmVrb ì¶{º${Zð> KQ>H$.

~) g§XoemMr d¡{eï>¶o.

H$) gm‘m{OH$ ‘mÜ¶‘ {dnUZ- EH$ noem.

S>) {dnUZ {Z¶§ÌU à{H«$¶m.

à.à.à.à.à.3) A) godm {dnUZmVrb 7 Ps g§H$ënZoVrb KQ>H$ ñnï> H$am. [8]

~) AmH$f©H$ Om{hamV ‘m§S>UrgmR>r H$moUVo KQ>H$ {dMmamV ¿¶mdo bmJVmV? ¶mMo g{dñVa {ddoMZ
H$am. [7]

à.à.à.à.à.4) A) gm‘m{OH$ ‘mÜ¶‘m§Mo ‘hÎd g{dñVa ñnï> H$am. [8]

~) {dnUZ A§Ho$jU à{H«$¶m ñnï> H$am. [7]


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Q1) a) Fill in the blanks (attempt any 5 out of 6): [5]

i) The __________ determine the agricultural cost and price.

(CACP, SBI, RBI, Cooperatives)

ii) Centralization of Industries leads to regional _________ in India.

(Balance, imbalance, sustainability, rural development)

iii) The water (prevention and control of pollution) act was passed
in ____________.

(1972, 1971, 1974, 1979)

iv) Major reason of Regional Industrial imbalance in India is _______.

(Concentration of Industries, foreign policy, International trade
policy, Regional need)

v) Minimum support price gives a support to _________ produce.

(Agricultural, educational, cultural, technological)

vi) Payment of wages act was passed in _________.

(1930, 1939, 1942, 1936)

P.T.O.



2[5801]-626

b) Match the following: [5]

i) MSP A)     Cost & Price determination

ii) CACP B) 1965

iii) Payment of Bonus act C) Regional Imbalance

iv) Concentration of Industries D) 2010

v) National green tribunal act E) Support to agricultural
produce

Q2) Write a short note (any 2 out of 4): [10]

a) Need of Industrial legislations.

b) Commission for agricultural cost & price.

c) Minimum support prize.

d) Need of agricultural policies.

Q3) a) Explain the remedial measures for balance industrial development. [8]

b) Write a note on minimum wages act 1948. [7]

Q4) a) Explain the need of agricultural price policy. [8]

b) Describe the importance of minimum support price. [7]


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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P3004

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr nmM) [5]

i) ............. hr g§ñWm H¥$fr {df¶H$ IM© d qH$‘V {ZpíMVr H$aVo.

(gr E gr nr, Eg ~r Am¶, Ama ~r Am¶, ghH$mar g§ñWm)

ii) ^maVm‘Ü¶o CÚmoJm§Mo H|$ÐrH$aU ............... bm àmoËg{hV H$aVo.

(g‘Vmob, Ag‘Vmob, emídVVm, J«m‘rU {dH$mg)

iii) nmUr (à{V~§Y d àXþfU {Z¶§ÌU) H$m¶Xm ........... ¶m dfu g§‘V H$aÊ¶mV Ambm.

(1972, 1971, 1974, 1979)

iv) ^maVm‘Yrb àmXo{eH$ Am¡Úmo{JH$ Ag‘VmobmMo ............ ho ‘w»¶ H$maU Amho.

(CÚmoJm§Mo H|$ÐrH$aU, {dXoerYmoaU, Am§Vaamï´>r¶ ì¶mnma YmoaU, àmXo{eH$ JaO)

v) {H$‘mZ AmYma ŷV qH$‘V ............ bm AmYma XoVo.

(H¥$fr, e¡j{UH$, gm§ñH¥${VH$, Vm§{ÌH$)

vi) doVZ AXm¶Jr H$m¶Xm ........... ¶m dfu g§‘V H$aÊ¶mV Ambm.

(1930, 1939, 1942, 1936)
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~) OmoS>çm bmdm. [5]

i) E‘ Eg nr A) IM© d qH$‘V {ZpíMVr

ii) gr E gr nr ~) 1965

iii) ~moZg AXm¶Jr H$m¶Xm H$) àmXo{eH$ Ag‘Vmob

iv) CÚmoJm§Mo H|$ÐrH$aU S>) 2010

v) amï´>r¶ harV Ý¶m¶m{YH$aU H$m¶Xm B) H¥$fr CËnmXZmg AmYma

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) Am¡Úmo{JH$ H$m¶X¶m§Mr JaO

~) H¥$fr IM© d qH$‘V Am¶moJ

H$) {H$‘mZ AmYma ŷV qH$‘V

S>) H¥$fr {df¶H$ YmoaUm§Mr JaO

à.à.à.à.à.3)A) g‘Vmob Am¡Úmo{JH$ {dH$mgmgmR>r Cnm¶¶moOZm ñnï> H$am. [8]

~) {H$‘mZ doVZ H$m¶Xm - 1948 ¶mda {Q>n {bhm. [7]

à.à.à.à.à.4) A) H¥$fr {df¶H$ qH$‘V YmoaUmMr JaO ñnï> H$am. [8]

~) {H$‘mZ AmYma ŷV {H$‘VtMo ‘hÎd {deX H$am. [7]


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Q1) Attempt any five of the following: [5×2=10]

a) Define new trends in defence.

b) Define natural resources.

c) Define defence expenditure.

d) Define defence forces.

e) What is war potential?

f) Define industrial capacity.

Q2) Attempt any four of the following: [4×5=20]

a) National security.

b) Military leadership.

c) Defence budget.

d) Indigenisation of armed forces.

e) Challenges in defence.

P.T.O.
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Q3) Attempt any four of the following: [4×5=20]

a) Explain understanding of Defence budget.

b) Explain linkages between planning and budget.

c) Explain in new trends in Indian defence expenditure.

d) Explain analysis of defence expenditure since 1998.

e) Expalin foreign aid as a contributory element of war potential.

Q4) Attempt any two of the following: [2×10=20]

a) Explain in detail economical elements of war potential.

b) Explain in detail elements of war potential.

c) Explain in detail impact of expenditure of Defence forces.


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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo JwU Xe©{dVmV.

P3005

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr nmM n«íZ gmoS>dm. [5×2=10]

A) g§ajUmVrb ZdrZ àdmh ì¶m»¶m H$am.

~) Z¡g{J©H$ gmYZ g§nÎmr ì¶m»¶m H$am.

H$) g§ajU IM© ì¶m»¶m Úm.

S>) goZmXbo ì¶m»¶m Úm.

B) ¶wÕ J{V‘mZVm åhUOo H$m¶?

’$) Am¡Úmo{JH$ j‘Vm ì¶m»¶m Úm.

à.à.à.à.à.2) {Q>nm {bhm. (H$moUVohr Mma) [4×5=20]

A) amï´>r¶ gwajm

~) bîH$ar ZoV¥Ëd

H$) g§ajU AW©g§H$ën

S>) goZmXbm§Mo ^maVr¶H$aU

B) g§ajUmVrb AmìhmZo
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) g§ajU IMm©Mr AË¶mdí¶H$Vm g‘OyZ KoUo ñnï> H$am.

~) AW©g§H$ën Am{U {Z¶moOZ ¶mVrb g§~§Y ñnï> H$am.

H$) ^maVr¶ g§ajU IMm©Vrb ZdrZ àdmh ñnï> H$am.

S>) 1998 Z§VaÀ¶m g§ajU IMm©Mo {díbofU H$am.

B) ¶wÕ J{V‘mZVoVrb naH$s¶ ghH$m¶m©Mo KQ>H$ ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2×10=20]

A) ¶wÕ J{V‘mZVoVrb Am{W©H$ KQ>H$ g{dñVa ñnï> H$am.

~) ¶wÕ J{V‘mZVoMo KQ>H$ g{dñVa ñnï> H$am.

H$) ^maVr¶ g§ajUXbmdarb g§ajU IMm©Mo n[aUm‘ g{dñVa ñnï> H$am.


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P3006 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (any 5): [5]

a) Variable cost of package tour charges as per _________.

i) Number of package

ii) Change in climatic condition

iii) Number of package and change in climatic condition

b) In terms of destination, what do attractions do _______.

i) Generate the visit to a destination

ii) Inform local residents to the benefits of tourism

iii) Support visitors at the destination

c) VISA which is issued to skilled and qualified professionals
are _________.

i) Tourist VISA

ii) Employment VISA

iii) Transit VISA

d) A ________ is a book of information about a place designed for
the use of visitors or tourists.

i) Guide

ii) Agent

iii) Guide Book

P.T.O.
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e) ________ provide emergency assistance to citizens in distress.

i) Embassy

ii) Agent

iii) Tour operator

f) The process of selling of a product through publicity is called
_______.

i) Direct mail

ii) Indirect mail

iii) Promotion

B) Match the following: [5]
A B

i) Independent tours a) Service at trained tour manager

ii) Escorted tour b) Travel independently

iii) Hosted tour c) Visit to religious destinations

iv) Freedom tours d) Agency utilizes the services of
another agency

v) Pilgrim tour e) Designed as per the choice of
tourists

Q2) Write short notes (Any 2) [10]
a) Types of tour package.

b) Tour Brochure.

c) Travel Documents.

d) Handling Emergencies.

Q3) a) Explain in detail factors affecting the Tour Package Formulation. [8]
b) Explain Tourist buying behaviour and the role of tour operator. [7]

Q4) a) Discuss about Tour booking and administration. [8]
b) State the need of quality and customer satisfaction. [7]


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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 50

gyMZm … 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P3006

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUVohr nmM) [5]
i) ........... Zwgma n°Ho$O ghbtÀ¶m qH$‘Vr ~XbVmV.

A) gm‘mZmMr g§»¶m
~) hdm‘mZ pñWVrVrb ~Xb
H$) gm‘mZmMr g§»¶m Am{U hdm‘mZ pñWVrVrb ~Xb

ii) J§Vì¶ñWmZmV qH$dm ‘w̧ $m‘mÀ¶m {R>H$mUr, AmH$f}Uo ............ AgVmV.
A) EImÚm J§Vì¶ñWmZmg ôQ> XoUo
~) ñWm{ZH$ a{hdmem§Zm n¶©Q>ZmÀ¶m ’$m¶Úm§{df¶r ‘m{hVr XoUo
H$) J§Vì¶ñWmZmda Aä¶mJVm§Mo g‘W©Z H$aUo

iii) Hw$eb Am{U nmÌ ì¶mdgm¶rH$m§Zm XoÊ¶mV Ambobm ............... pìhgm Amho.
A) àdmgr pìhgm
~) amoOJma pìhgm
H$) g§H«$‘U pìhgm

iv) ................ ho Aä¶mJV qH$dm n¶©Q>H$m§À¶m dmnamgmR>r {S>PmBZ Ho$boë¶m ñWmZm~X²XbMr
‘m{hVr nwñVH$ Amho.
A) ‘mJ©Xe©Z
~) EO§Q>
H$) ‘mJ©X{e©H$m

v) g§H$Q>mV Agboë¶m ZmJarH$m§Zm AmnËH$mbrZ ‘XV ............. XoVo.
A) XþVmdmg
~) EO§Q>
H$) Qw>a Am°naoQ>a

vi) à{gÕrÛmao EImÚm CËnmXZmMr {dH«$s H$aÊ¶mÀ¶m à{H«$¶og ................. åhUVmV.
A) WoQ> ‘ob
~) AàË¶j ‘ob
H$) Om{hamV
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~) ¶mo½¶ OmoS²>¶m Owidm : [5]

"A' "~'

i) ñdV§Ì Xm¡ao A) à{e{jV Qw>a ‘°ZoOaMr godm

ii) EñH$m°Q>}S> n¶©Q>Z ~) ñdV§Ì àdmg

iii) hmoñQ> Ho$bobo n¶©Q>Z H$) Ym{‘©H$ ñWim§Zm ôQ> XoUo

iv) ’«$sS>‘ n¶©Q>Z S>) EOÝgr Xþgè¶m EOÝgrÀ¶m godm§Mm
dmna H$aZo

v) ¶mÌoH$ê$ ghb B) n¶©Q>H$m§À¶m AmdS>rZygma {S>PmB©Z
Ho$bobo

à.à.à.à.à.2) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) n¶©Q>Z n°Ho$OMo àH$ma

~) n¶©Q>Z ‘m{hVrnÌH$

H$) {ZJ©‘Z nwd© ~¡R>H$

S>) n¶©Q>ZmZ§VaMo CnH«$‘

à.à.à.à.à.3) A) Qw>a n°Ho$O gw{ÌH$aUmda n[aUm‘ H$aUmè¶m KQ>H$m§§Mo Vnerbdma dU©Z H$am. [8]

~) n¶©Q>H$ IaoXrMo dV©Z Am{U Qw>a Am°naoQ>aMr ŷ{‘H$m ñnï> H$am. [7]

à.à.à.à.à.4) A) Qw>a ~wqH$J Am{U àemgZm{df¶r MMm© H$am. [8]

~) JwUdÎmm Am{U J«mhH$m§À¶m g‘mYmZmMr JaO gm§Jm. [7]


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Q1) A) Fill in the blanks (Any 5 out of 6): [5]

a) _______ is an artifical and informal language that helps programmers
develop algorithms.

i) Pseudocode ii) Visual basic

iii) Oracle iv) Windows

b) Software testing tools are the tools which are used for the ________
of software.

i) ranking ii) promoting

iii) debugging iv) testing

c) The benefits of testing includes ________.

i) preventing bugs ii) reducing development costs

iii) improving performance iv) all of the above

d) ________ shows the relationship of entity sets stored in a database.

i) Data dictionary ii) Entity relationship diagrams

iii) Flow iv) Scheme

e) ______ testing involves testing a system with no prior knowledge
of its internal workings.

i) Within the box ii) Outbox

iii) Black box iv) Inbox

f) _______ contains metadata i.e. data about the database.

i) case study ii) decision

iii) output design iv) data dictionary

P.T.O.
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B) Match the following: [5]

a) Decision table Selenium

b) Data flow diagram Entity Relationship Diagram

c) Screen design tabular representation of
decision making process

d) ERD graphical representation of
symbols

e) Software testing tool graphic design of user interfaces

Q2) Short Notes (Any 2 out of 4): [10]

a) Types of testing.

b) Fact finding techniques.

c) Risk Projection.

d) Screen Layout designing.

Q3) a) Explain Decision table and data dictionary with examples. [8]

b) Explain data flow diagram in detail. [7]

Q4) a) What is software testing? Why is software testing important. [8]

b) Explain why data validation is important. [7]


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Q.1 A) Fill in the blanks. [5]

i) IoT is a system of interrelated computing devices, mechanical and _____

a) E-commerce b) Physics

c) Digital Machines d) Sound machines

ii) AR means ______.

a) Artificial Reality b) Augmented Reality

c) Artificial Robotics d) Augmented Robotics

iii) _____ is a capable of performing tasks that typically require human
intelligence.

a) GUI b) AI

c) SI d) KI

iv) The term IoT was invented in _____.

a) 1998 b) 1999

c) 2000 d) 2001

v) ______ is a completely immersive experience that replaces a real-life
environment with a simulated one.

a) GR b) VR

c) AR d) DR

P.T.O.
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 B) Match the Pairs. [5]

a) Protocol used in IoT 1) SaaS

b) Artificial Intelligence 2) Hybrid Cloud

c) Smart Home 3) TCP/IP

d) Cloud Computing 4) IoT

e) Partially Secure 5) AI

Q.2 Write short note on the following (Any two) [10]

a) Working of IoT

b) PaaS

c) Virtual Reality

Q.3 Answer the following (Any four) [20]

a) What is Augmented Reality?

b) What are the features of IoT?

c) Explain briefly the principles of VR.

d) What are the advantages of AI.

e) Explain briefly any two applications of IoT.

Q.4 Answer the following Question (Any one) [10]

a) What is Cloud Computing? List the Advantages of Cloud Computing.

b) What is AI? Explain in detail.


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Q1) A) Fill in the blanks: [5]

a) _____ is most important quality of effective sales manager.

i) Product Knowledge ii) Positive attitude

iii) Product development idea iv) Good personality

b) Looking after daily sales is the prime responsibility of _____

i) CEO ii) Cost Manager

iii) Sales Manager iv) Marketing manager

c) In SWOT analysis ‘T’ stands for

i) Tentative ii) Thoughts

iii) Time management iv) Threats

d) It is process of interacting with customers.

i) Branding ii) Packaging

iii) CRM iv) CPM

e) ______ is the performance expectation that salesman must achieve during
given time.

i) Sales Budget ii) Sales Quota

iii) Sales Report iv) Sales Manual

P.T.O.
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Q1) B) Match the pairs. [5]

a) CRM 1) Analysis of sales

b) Initiative 2) Set of strategies

c) Sales Planning 3) Geographical area

d) Sales Territory 4) Quality of sales manager

e) Sales Audit 5) Improves seller - customer
relationship

Q2) Write short note on (Any two) [10]

a) Sales analysis

b) Online sales promotion

c) Sales Management

d) Ethics in selling

Q3) Answer the following (Any four) [20]

a) Importance of CRM

b) Corporate Social responsibility

c) Sales Quota and Sales territory

d) Sales Audit

e) Need of Physical distribution of Goods

f) Need of Warehousing

Q4) Answer the following (Any one) [10]

a) Explain in detail functions and responsibilities of sales manager.

b) State and explain required qualities of sales manager.


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Q1) A) Choose the correct answer (Any Five) [5]

i) The time limit for payment of drawback to the claimant without interest
is within _____ from the date of filing a cliam for payment of such
drawback.

a) Three Months b) Two Months

c) One Months d) Six Months

ii) In case of import of goods, taxable event occurs when ______

a) Goods crossses the territorial water

b) Goods crosses the customs barrier

c) Goods have been dispatched by the supplier

d) Goods become the part of land mass of India

iii) The process of Export is said to be completed when the goods _____

a) Reached the destination port

b) Crosses the Indian Port

c) Crosses the Indian Territorial water

d) Crosses the Indian Customs water

iv) Any licensed public warehouses can be used for depositing _____ goods.

a) Duty free b) Dutiable

c) Exempt d) Import

P.T.O.
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v) Import duty paid on goods imported by Jet Airways other than fuel and
lubricant for a foreign going vessel is eligible for:

a) Drawback @100% b) Drawback @98%

c) Refund @100% d) Refund @98%

vi) To be eligible for drawback goods must be exported within _____ from
the date of payment of duty on the importation thereof.

a) One year b) Two years

c) Three years d) Five years

B) State whether the following statement is TRUE or FALSE. [5]

i) Baggage includes unaccompanied baggage but does not include
motor vehicles.

ii) The basic condition for levy of Customs Duty is, there must be
import or export of goods.

iii) The rate of drawback on imported goods which are exported as
such other than fuel and lubricant oil used in aircraft is 100%.

iv) Section 3 of the Customs Act, 1962, specifies the classes of officers
of customs.

v) IEC is a unique 12-digit PAN based alphanumeric code allotted to a
person for undertaking any import/export activities.

Q2) Write short notes (Any two) [10]

a) Licensing of private warehouses

b) Duty drawback of Customs Duty

c) Deemed Exports under Foreign Trade Policy

d) Authorized Economic Operator
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Q3) Answer the following (Any four) [20]

a) What are the different types of warehouses?

b) Discuss the important provisions regarding removal of goods from the
warehouse in brief.

c) Explain the process of claiming Refund under Customs Act 1962.

d) What are the benefits of Deemed Exports under Foreign Trade Policy?

e) Discuss the provisions in respect of interest on delayed refund under
Customs.

f) Explain the provisions relating to export of goods under Foreign Trade
Policy.

Q4) Answer Any one of the following Questions. [10]

a) What is Deemed Exports? Which type of supplies are regarded as deemed
exports?

b) What are the powers of Customs Officers?


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